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The following table shows the Income and Expenditure (in million %) of five companies A-E in the year 2021. The
percent profit or loss of a company is given by :

(Profit/Loss) % = [(Income - Expenditure)/ Expenditure] x 100.

Based on the data in the table, answer the question.

Company wise Income and Expenditure in the year 2021

Income  (in[Expenditure  (in
Company| . . e
million ) million )
A 35 45
B 50 40
C 40 45
D 40 30
E 50 45

fafafaa aifere & v $ufar A-e F T 2021 F o 3T =g (Hfe= = #) o weitfa frar M 81 St &1 ufeee
s T e FE TR AR TR

(STH/ET) % = [(STF - =) / 4] X 100
TR F faE T aifes & YR I Uy &1 I ifee -

aqY 2021 B HUHI-SR M 3R g

Gl (ffams 1 oo fEftma o)
A 35 45
B 50 40
C 40 45
D 40 30
E 50 45
Company earned the maximum percentage profit in the year 2021.
T.A
2.B
3.C
4.D
(1) 1

(2) 2




(3) 3
(4) 4

gy 2021 o feod Hu-it = iffdan ary sifofa faan 2

T.A
2.B
3.C
4.D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29101] Question Description : dwbv_pg_gp24_eng_2_q1l
2[Option ID=29102]

3[Option ID=29103]
4[Option ID=29104]

Sl. No.2
QBID:24201002

The following table shows the Income and Expenditure (in million ) of five companies A-E in the year 2021. The
percent profit or loss of a company is given by :

(Profit/Loss) % = [(Income - Expenditure)/ Expenditure] x 100.

Based on the data in the table, answer the question.

Company wise Income and Expenditure in the year 2021

Income  (in[Expenditure  (in
Company| . . e
million ) million )
A 35 45
B 50 40
C 40 45
D 40 30
E 50 45

Frafafaa aifere & o $ufar A-E F ad 2021 & o 3 =g (e = #) o velfa frar M 81 St &1 ufese
aHT e FEeRAAEE:

(ATH/ET) % = [(3T9 - ) / 9] X 100
TR # faw T8 sifee & YR W Uy &1 I Sieig

gy 2021 Bl HUHI-AR 3E AR T

G- 3 (ffemH < o) f@fima )
A 35 45
B |50 40
c |40 45
D |40 30
E |50 45




The companies A and B together had a percentage profit/loss of .

1.12% loss

2. 10% profit

3.10% loss

4. There was no loss or profit

(1) 1
(2) 2
3) 3
(4) 4

A 3R g U &1 U 9 fHae ufae ar/eH fea/fea & 2
1.12% Bl

2.10% a1
3.10% gIf+
4. P13 gl a1 Ay el of

1)
(2)
(3)
(4)

A W N R

1[Option ID=29105] Question Description : dwbv_pg_gp24_eng_2_q2
2[Option ID=29106]
3[Option ID=29107]
4[Option ID=29108]
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The following table shows the Income and Expenditure (in million %) of five companies A-E in the year 2021. The
percent profit or loss of a company is given by :

(Profit/Loss) % = [(Income - Expenditure)/ Expenditure] x 100.

Based on the data in the table, answer the question.

Company wise Income and Expenditure in the year 2021

Income  (in[Expenditure  (in
Company| . . e
million ) million )
A 35 45
B 50 40
C 40 45
D 40 30
E 50 45

Fafafaa aifere & o $ufar A-e F T 2021 F o 3T =g (Afem= 2 9) o weifa frar M 81 S0t &1 ufeee
s T e P TSR AN TR

(ATH/ETT) % = [(3TT - =q9) / =I9] X 100
HRt & f3T T sifpe F YR W U4 &7 IR Jifve :

Y 2021 &1 HUHI-TR ™ 3R g

-l (e 2 #) oy (@iema 4
A 35 45
B |50 40
C 40 45
D 40 30
E |50 45

In 2021, the approximate percentage of profit/loss of all the five companies taken together was

1. 5% profit
2. 4% loss
3.7 % loss
4. 10 % profit
(1) 1
2) 2
3) 3
4) 4

gy 2021 5 9t uTel Hual @ ue a1y e and g1 &1 ufa=rd o feam o 2

1.5% TY
2. 4% BIH
3.7% 81

4. 10% <M




(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29109] Question Description : dwbv_pg_gp24_eng_2_q3
2[Option ID=29110]

3[Option ID=29111]
4[Option ID=29112]

Sl. No.4
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The following table shows the Income and Expenditure (in million %) of five companies A-E in the year 2021. The
percent profit or loss of a company is given by :

(Profit/Loss) % = [(Income - Expenditure)/ Expenditure] x 100.

Based on the data in the table, answer the question.

Company wise Income and Expenditure in the year 2021

Income  (in[Expenditure  (in
Company| . . e
million ) million )
A 35 45
B 50 40
C 40 45
D 40 30
E 50 45

Frafafaa aifere & o $ufar A-E ¥ ad 2021 & 39 3 =g (o= 2 #) oY uefifa frar T 21 o=t =1 ufewe
aY T R TR I TS

(ATH/ET) % = [(3TT - =) 7 TT] X 100
Aot & foE 1 sifpe F YR W U4 &7 I« g :

a4 2021 &1 HUHI-SR 3™ 3R &g

G- (faferH 2 o) oy (afema T 4)
A 35 45
B |50 40
C 40 45
D |40 30
E |50 45

If the income of Company D in 2021 was 10% more than its income in 2020 and the company had earned a profit of 20% in
2020, then its expenditure (in million ) in 2020 was approximately

1.28.28
2.30.30
3.32.32
4.34.34

1) 1




) 2
3) 3
(4) 4

o af 2021 # SO D DI 3T I 2020 BT AT Y 109 1D ff 3R H = 2020 F 20% Y 31fold fasar o1, @t 3 2020
T suo oy (Fafeme < 1) T feaan o

1.28.28
2.30.30
3.32.32
4.34.34

(1)
(2)
(3)
(4)

A W N R

1[Option ID=29113] Question Description : dwbv_pg_gp24_eng_2_q4
2[Option ID=29114]
3[Option ID=29115]
4[Option ID=29116]
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The following table shows the Income and Expenditure (in million %) of five companies A-E in the year 2021. The
percent profit or loss of a company is given by :

(Profit/Loss) % = [(Income - Expenditure)/ Expenditure] x 100.

Based on the data in the table, answer the question.

Company wise Income and Expenditure in the year 2021

Income  (in[Expenditure  (in
Company| . . e
million ) million )
A 35 45
B 50 40
C 40 45
D 40 30
E 50 45

Fafafaa aifere & o $ufar A-e F T 2021 F o 3T =g (Afem= 2 9) o weifa frar M 81 S0t &1 ufeee
s T e P TSR AN TR

(ATH/ETT) % = [(3TT - =q9) / =I9] X 100
HRt & f3T T sifpe F YR W U4 &7 IR Jifve :

Y 2021 &1 HUHI-TR ™ 3R g

-l (e 2 #) oy (@iema 4
A 35 45
B |50 40
C 40 45
D 40 30
E |50 45

For Company E, if the expenditure had increased by 20% in the year 2021 from the year 2020 and the company had earned
a profit of 10% in 2020, then the company’s income (in million ) in 2020 was

1.37.25
2.38.50
3.41.25
4.42.75

1) 1
(2) 2
3) 3
(4) 4




g Sl £ & fog, 9y 2021 &1 o0g a¥ 2020 S T H 20% Sl 1eT1 T-T 4T SR ST 3 ad 2020 H 10% a4 Hoid fdar o,
dt dat &1 a¥ 2020 B 39 (e < H) feat 9 2

1.37.25
2.38.50
3. 41.25
4.42.75

1)
(2)
(3)
(4)

A W N =

1[Option ID=29117] Question Description : dwbv_pg_gp24_eng_2_q5
2[Option ID=29118]
3[Option ID=29119]
4[Option ID=29120]

Sl. No.6
QBID:24201006

Given below are two statements:

Statement I: In formative evaluation, the overall performance of the students are reported to parents at the end of the year.
Statement II: In summative evaluation, the teacher clarifies the doubts of students in the class itself.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1)
(2)
(3)
(4)

A W N =

dH APy RuUE:

&Y - | FafmeEs (widfea) geie §, faendf & v fuaea & e 3 af & sid J amar-fuar o ol § e 2
@Y - || : YhoHTES (GHied) GedisH |, FRiad wan d g 8l & Yo $I HaRv &dl 8l

e YAl & Tettep 7 FafiRad el § 4 w8 S -

1. Y | 3R 11 GHI GgT &

2. @Y | AR 11 G TTad & |

3. @Y 1 9 7, fog @uH 11 7Tad &
4. BY | HEA 8, Tiod BUA 11 T2 B

(1)
(2)
(3)
(4)

A W N R

1[Option ID=29121] Question Description : dwbv_pg_gp24_eng_2_q6
2[Option ID=29122]
3[Option ID=29123]
4[Option ID=29124]

Sl. No.7
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Given below are two statements:

Statement I: SWAYAM is a program initiated by Government of India and designed to achieve the six cardinal principles of
education policy.

Statement II: SWAYAM has been developed cooperatively by Ministry of Human Resource Development (now Ministry of
Education) and All India Council for Technical Education with the help of Infosys.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1)
(2)
(3)
(4)

A W N =

DY - | : TH, HRd WBR gRI Ydldd U SHH & 3R g Alaid 1id & &g AR sidl dI UId &3 & oY
HHDIUd B |

T - || : TOH Bl SHIY DI Gerdl U AFd GareH Ao S (36 fR1aT H3ed) R $if@d YR de-io! &l 9kug
SR GgaNTgd® fasid e T gl

St wuA & s § Fafied e § @ 9d SR

1. ®YT | 3R 11 T 98T 81
2. Y| R 11 GF Tad B
3. I Rl e, g @ T B |
4. YA | TTAd & , T By 11 98l Bl

1)
(2)
(3)
(4)

A W N =

1[Option ID=29125] Question Description : dwbv_pg_gp24_eng_2_q7
2[Option ID=29126]
3[Option ID=29127]
4[Option ID=29128]

Sl. No.8

QBID:24201008

Which of the following is said to occur without reinforcement of particular responses and seems to involve changes in the
ways information is processed?

1. Passive learning
2. Latent learning
3. Active learning
4. Insight learning

1)
(2)
(3)
(4)

A W N R




fFrafaRaa # @ @1 a1 fafiy srfsar & Yeeldvl & &A1 9fed giFT S/l Sl & SR 39 THId &1 o aTell a1 & aid
¥ uRad- 2nfia udid gial g ?

1. fsRg it
2. 3fogdd HRH
3. Tihg 3T
4. genely affirms

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29129] Question Description : dwbv_pg_gp24_eng_2_q8
2[Option ID=29130]

3[Option ID=29131]
4[Option ID=29132]

Sl. No.9
QBID:24201009

According to Brown and Ciufflectelli Parker, Which of the following are the elements of cooperative learning?
A. Individual Accountability

B. Demonstration

C. Brainstorming

D. Group processing

E. Social skills

Choose the correct answer from the options given below:

1.B, C and E only
2.B and D only
3.A Dand E only
4. Cand D only

1) 1
) 2
3) 3
(4) 4




F13 AR Wi eell Ul & SHR YeaRTES SHEH & dd Hgfaiad 5 dH 4 82
A. SfGHTd JTReIAG

B. Feuor

C. [qar-#y=

D. GHg-UHIeH (U U

E. TSI BT

=i f&u 7 fadeal § 9 98 I g -

1. 5dd B, C AR E
2.%ad B 3R D
3.%ddA DIARE
4.PHACHRD

1)
(2)
(3)
(4)

A W N R

1[Option ID=29133] Question Description : dwbv_pg_gp24_eng_2_q9
2[Option ID=29134]
3[Option ID=29135]
4[Option ID=29136]

Sl. No.10
QBID:24201010

Given below are two statements:

Statement I: Good teaching is formal in nature.

Statement II: There is no difference between teaching and training.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1)
(2)
(3)
(4)

EIEAEAC AR S

HY - | : 3T e yefaa: sfiuaie g gl

T - 11 : 7o IR WiIE & e i He A2 oiel o
St wuA & s § Fafied e § @ 9d SR

1. ®YT | 3R 11 T 98T 81

2. Y| R 11 GF Tad B

3. @Y1 9d &, fod &Y 11 TAd B
4. Y| 9T g, g v 1 W B

A W N R

1) 1




(2) 2

3) 3

(4) 4

1[Option ID=29137] Question Description : dwbv_pg_gp24_eng_2_q10
2[Option ID=29138]

3[Option ID=29139]
4[Option ID=29140]

Sl. No.11
QBID:24201011

A conceptual hypothesis is drawn from the implications of a

1. Prediction

2. Theory

3. Spurious relation
4. Time-order

(1)
(2)
(3)
(4)

TP udd UG Hgfarad | ° feg fAfgan! 9 o o 82

1. Q&A=

2. fgia

3. UMD T
4. DIA-HH

A W N R

(1)
(2)
(3)
(4)

A W N R

1[Option ID=29141] Question Description : dwbv_pg_gp24_eng_2_q11
2[Option ID=29142]
3[Option ID=29143]
4[Option ID=29144]

Sl. No.12
QBID:24201012

In inductive approach theory is generated out of

1. Simple observation
2. Research done

3. Field notes

4. Another theory

(1)
(2)
(3)
(4)

HRTHATED IUFH H Rigid FafcRad H U foud g g sidi ¢ ?

1. FIYROT Y&

2. feqifea ar g
3. &7 - feam

4. 3 fogid

A W N R

1 1
2) 2




3) 3
(4) 4

1[Option ID=29145] Question Description : dwbv_pg_gp24_eng_2_q12
2[Option ID=29146]
3[Option ID=29147]
4[Option ID=29148]

Sl. No.13
QBID:24201013

When a sampled individual is cbserved over a pre-determined period of time in structured observation , it is called

1. Focus sampling

2. Observed sampling
3. Random sampling
4. Purposive sampling

(1) 1
(2) 2
3) 3
(4) 4

e fep il ufcafRia safda o1 Heror YRfd Ueror &1 ud Meifd geamafy o i o 2, 9l 58 Sel Sl &

1. Gopl-5d Ulcaa
2. Uférd ufaag
3. U Uidag
4. giezg ufaaa

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=29149] Question Description : dwbv_pg_gp24_eng_2_q13
2[Option ID=29150]

3[Option ID=29151]
4[Option ID=29152]

Sl. No.14
QBID:24201014

In ethnographic research, the researcher involves himself in a over a period of time.

1. philosophical discourse
2. political campaign

3. financial transaction

4. social setting

1) 1
(2) 2
(3) 3
(4) 4

HHASIEE U ¥, S8 0= 310 &1 Fufafed & 3 oo te el & fn i s g

1. GRIM® Gag

2. ToHfad famsl
3. fa<ila YomaeRr
4. o aRawr

(1)1
(2) 2
(3) 3




(4) 4

1[Option ID=29153] Question Description : dwbv_pg_gp24_eng_2_q14
2[Option ID=29154]
3[Option ID=29155]
4[Option ID=29156]

Sl. No.15
QBID:24201015

Given below are two statements:

Statement I: The double blind procedure is an effective solution to the issue of experimenter bias in research.
Statement II: The problem of experimenter bias can also be solved by non-verbal cuing of the participants.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

(1)1
(2) 2
(3) 3
(4) 4

EIEFCAE A

T - | ATHUH H fgdeq Ul srdUFGdl ® Garig! SHRdl &1 T SHeHE gl

T - 11 : HFGUHG! & Garig di gue o TeuifEl & IR-2nfsad Ydba- gRT Yor o Tl g
SWad Bl & Hcile H Fyftiad fdbedl 7 4 98l S g -

1. B | 3R 11 SHT 9ET B
2. %Y | AR 11 G T &
3. Y| TRl 7, faeg &Y 11 T B
4. YA | TTAd & , fbg By 11 98T Bl

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29157] Question Description : dwbv_pg_gp24_eng_2_q15
2[Option ID=29158]

3[Option ID=29159]
4[Option ID=29160]

Sl. No.16
QBID:24201016

The arrival of interactive communication technologies has been described as

1. The first media age

2. The second media age
3. Post-media age

4. Post-technology age

1) 1
() 2
(3) 3
(4) 4




I aTe® TuwYl Hiefififeeat & e &t fufeiRad ©u 3 aftla fear mar &

1. 9y Hitgar g
2. fedia difsargn
3. - Hifsgr g
4. SR-UEIFT®S T

1)
(2)
(3)
(4)

A W N R

1[Option ID=29161] Question Description : dwbv_pg_gp24_eng_2_q16
2[Option ID=29162]
3[Option ID=29163]
4[Option ID=29164]

Sl. No.17
QBID:24201017

One of the features of broadcast communication is that it is

1. Static for the audience

2. Hidden from the audience
3. High- brow for the audience
4, Live for the audience

1)
(2)
(3)
(4)

A W N R

TUY & UHRY &1 U6 [A9Nai 98 ¢ & U8 :

1. HRD| & U R g 8

2. ARH A TE a8

3. AFTEDI & fory g18-51 (I FAray) BT 8
4. 3TED] & [0 Sfidd erar s

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29165] Question Description : dwbv_pg_gp24_eng_2_q17
2[Option ID=29166]

3[Option ID=29167]
4[Option ID=29168]

Sl. No.18
QBID:24201018




A cool medium has the features of :

A. High definition

B. High participation

C. It provides small amount of information

D. Tends not to be supplemented by hot media

E. Supplanted by hot media

Choose the correct answer from the options given below:

1. A B and C only
2.Cand D only

3.B, Cand E only
4.B, D and E only

(1)
(2)
(3)
(4)

A W N R

fadl IR (@) AreH B ARfaRed faRvan g -

A. B3 SpfRE

B. 3= HFiERT

C. g G-I D1 3icd AET UGH &dl &

D. U8 Sacid (81e) Hif$d1 gR1 §Uz® 8l &1 3R Ug< 181 eidll
E. Sgoid Hifsan gRT fawunfua

i<l few e fadeal # 9 9l SR 94 -

1.Bad A, B AR C
2. $aAC 3R D

3.Haq B, C AR E
4. %ad B, D ARE

1)
(2)
(3)
(4)

A W N R

1[Option ID=29169] Question Description : dwbv_pg_gp24_eng_2_q18
2[Option ID=29170]
3[Option ID=29171]
4[Option ID=29172]

Sl. No.19
QBID:24201019




Which of the following directly affect or influence the listening skills of the students?
A. Student protocol

B. Administrative interest

C. Speed of the speech

D. Timing of the speech

E. The regional accent

Choose the correct answer from the options given below:

1. A B and C only
2.B, Cand D only
3.C, Dand E only
4. A Dand E only

(1)
(2)
(3)
(4)

Bl & 43U HIRE & Fgffed At e M R R yuiidd axd g 7
A, faemdf uieiia
B. WIH® fed

C. SR &1 7Tid

A W N R

D. SRS &1 §599 - iR
E. &g 3=ER
i< féu U faseal § 4 98t I g -

1. Had A, B3R C
2.%4dd B, C AR D
3. %A C, D ARE
4.PaAA DIARE

1)
(2)
(3)
(4)

A W N R

1[Option ID=29173] Question Description : dwbv_pg_gp24_eng_2_q19
2[Option ID=29174]
3[Option ID=29175]
4[Option ID=29176]

Sl. No.20
QBID:24201020




Given below are two statements:

Statement I: The power elites by controlling the communication media extend their hegemonic rule further is a statement of
myth.

Statement II: Through communication media, they always plan to win over the common publics and continue to overlord
them.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1) 1
(2) 2
3) 3
(4) 4

EIEAERE I A

HYA - | - Wi 4T 9t guwur Hitgar ) Fgao wifid e s Afiug & SR 3F Serdl 8, U8 U [Hys $u
@Y - || - GUSUT HIfST1 & H1eH © d 9od I S0l IR faoid urH @1 dieE s § $R 390 3ifiufd 4 Ed 8

I BYHl B 3MTciie H FEieiad [decdl # 4 981 W g

1. ®Y | AR 11 &AWl Bl

2. %Y 1 3R 11 G Tad & |

3. @Y1 9d ¢, T &% 11 7Tad g |
4. BY | YA § , Tood DU 11 TET B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29177] Question Description : dwbv_pg_gp24_eng_2_q20
2[Option ID=29178]

3[Option ID=29179]
4[Option ID=29180]

Sl. No.21
QBID:24201021

A certain principal amount in 2 years at some simple interest becomes 10,000 and the same principal amount on the same
rate of simple interest becomes % 11,000 in 3 years. Find the principal and rate of interest.

1.39200 and 14%
2. 38500 and 13.5%
3.%9000 and 13%
4. 38000 and 12.5%

1) 1
) 2
3) 3
4) 4




Uds FIi3d o U % WIYRY 416 &1 62 W 2 91 H % 10,000/- Bl 91l & SR del SHH e 21 Y9 AR 416 63
R 3 @9l H ¥ 11,000/- B AT & | A R &9 &2 FId DI

1.3 9200 3R 14%
2.% 8500 3T 13.5%
3.% 9000 3 13%
4.% 8000 3% 12.5%

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29181] Question Description : dwbv_pg_gp24_eng_2_q21
2[Option ID=29182]

3[Option ID=29183]
4[Option ID=29184]

Sl. No.22
QBID:24201022

Raman said to Aman, "That boy playing football there is the younger of the two brothers of the daughter of my father's
wife". How is the boy playing football related to Raman?

1. Cousin

2. Brother-in-law
3. 5on

4. Brother

(1) 1
2 2
3) 3
(4) 4

I 3 U Bgl-"d8 dS®l ol dgi pedid Wd 61 ¢, a8 B [UdI @I Udl @i §¢l & &l HIgdl § 321 8" | Fedld Wd 3§ dod
BT I G 1 gey 87

1. TR T
2. 4rer

3.7
4.913

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29185] Question Description : dwbv_pg_gp24_eng_2_q22
2[Option ID=29186]

3[Option ID=29187]
4[Option ID=29188]

Sl. No.23
QBID:24201023




A girl starts from a point P and walks 10 meters in the North-West direction and reaches the point Q. She then turns to her
left and walks 10 meters to a point R which is directly west ward to point P. She again moves towards south-east direction

and goes 10 meters and reaches a point S which is directly southward to point Q. From the point S she turns towards point
P and walks 10 meters. What is the shape of the geometrical figure PQRS?

1. Rhombus

2. Rectangle

3. Square

4. Parallelogram

1) 1
(2) 2
(3) 3
(4) 4

Ud qlicid] g P U goHT HRY Bl 6, 3R 30X - UEH fe=n # 10 Hiex gadl § @R Q fdg W ugadi 81 39 aIc dg 3/u+
T 3R g3l 8 3R 10 Hiex gaar g R 9@ 1! & off W IR W p fog & vty foge 81 98 O < - gd ot femm & 3R

el & 10 Hiex gaax s [g W Ugadi & ol 91¥ fig Q @1 alamnfygE 81 98 s fig ¥ fdg p @1 SR g3dl & iR 10 Hiex gadt
&1 TR 3G PQRS @I STHR ®H-T1 87

1. GEEHS
2. AATGR

3. @R
4. GHIGR IgH

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29189] Question Description : dwbv_pg_gp24_eng_2_q23
2[Option ID=29190]

3[Option ID=29191]
4[Option ID=29192]

Sl. No.24
QBID:24201024

In a certain code language TROUBLE is written as ETLRBOU. How PROBLEM will be written in that language?

1. MPEROLB
2. MPELROB
3. MPERLCE
4. MEPLROB

(1) 1
(2) 2
3) 3
(4) 4

Uds [If3d e YN H, TROUBLE @I ETLRBOU & &0 ¥ feRal SiidT &1 39 HINT H PROBLEM &4 feRal ST 2

1. MPEROLB
2. MPELROB
3. MPERLOB
4. MEPLROB

1 1
(2) 2
3) 3




(4) 4

1[Option ID=29193] Question Description : dwbv_pg_gp24_eng_2_q24
2[Option ID=29194]
3[Option ID=29195]
4[Option ID=29196]

Sl. No.25
QBID:24201025

What number should replace question mark(?) in the series given below:
15,15, 22.5, 45, 112.5,337.5, 7

1.1181.25
2.1350
3. 1518.75
4.562.5

1) 1
(2) 2
3) 3
(4) 4

I €1 75 49 §, UYaE® O (7) ©1 WHE® 981 DF-91 8iHT aifel?
15, 15, 22.5, 45, 112.5, 337.5, 7

1.1181.25
2.1350
3. 1518.75
4.562.5

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29197] Question Description : dwbv_pg_gp24_eng_2_q25
2[Option ID=29198]

3[Option ID=29199]
4[Option ID=29200]

Sl. No.26

QBID:24201026

"Although | am very happy to win the lottery, | am also a little worried. The last time | had won a lottery, my pocket was
picked the next morning.” Which logical fallacy is commited in the above argument?

1. Post hoc

2. Hasty generalisation
3. Red herring

4. False alternative

(1)1
(2) 2
(3) 3
(4) 4




"I H qled] Siid- R HAd Uad g, <fd YisT-agd Rifad i g1 i@l aR 34 b dled siidl 41 di sFTell Yag 83 oid @re
@ 13 ot SRied gfod § &F I b -Gy 87

1. TR Bl
2. AfaaRT grE=dis

3.8 i
4. 30d fameg

1)
(2)
(3)
(4)

A W N R

1[Option ID=29201] Question Description : dwbv_pg_gp24_eng_2_q26
2[Option ID=29202]
3[Option ID=29203]
4[Option ID=29204]

Sl. No.27
QBID:24201027

Which of the following statements are logically equivalent?
A. All aeroplanes are polluting vehicles.

B. No polluting vehicles are aeroplanes.

C. All non-polluting vehicles are non-aeroplanes.

D. No aeroplanes are non-polluting vehicles.

Choose the correct answer from the options given below:

1. B and C only
2.B and D only
3.Aand D only
4. A, Cand D only

1)
(2)
(3)
(4)

A W N R

fFrafafad 4 94 @14 9 oy difde ¥ U ¥ 9l © 2
A. T T UgwE aEA e B

B. g 1 UgH® drgH [quH g1 gid & |

C. gl TR-Ugu® de {R-TaHH Bid g1

D. &3 ¥ i3 R-Ugu® are T eiar &

i< feu e fasedl § 9 w8l SR 9 -

1. ®aA B AR C
2.%ad B 3R D
3. Bad A AR D
4. PaAA CHRD

1) 1
(2) 2
3) 3




(4) 4

1[Option ID=29205] Question Description : dwbv_pg_gp24_eng_2_q27
2[Option ID=29206]
3[Option ID=29207]
4[Option ID=29208]

Sl. No.28
QBID:24201028

If the statement- "All aeroplanes are polluting vehicles’, is given as true, then which of the following statements can be
immediately inferred to be true?

1. No aeroplanes are polluting vehicles.

2. Some aeroplanes are polluting vehicles.

3. Some aeroplanes are not polluting vehicles.
4. No polluting vehicles are aeroplanes.

1) 1
(2) 2
(3) 3
4) 4

g 34 HyH -l [30H Ugu die- & &1 9d & ©u H &1 7 ¢ df Fafaiea § 3 oy $uH & dialits U d adg giH
@1 A fdodT o 9dbdl & ?

1. ®I3 *ff fF9H Uge® 98- Tl el g
2. TS [G0H UgH® ae 8id &

3. $B fauH ugy® a5 e el B

4. DI3 UGN digH faHH T8l gl 8|

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=29209] Question Description : dwbv_pg_gp24_eng_2_q28
2[Option ID=29210]

3[Option ID=29211]
4[Option ID=29212]

Sl. No.29
QBID:24201029

Which of the following propositions are so related that they can not both be false, although they may both be true?
A. Some cars are polluting vehicles.

B. Some cars are not polluting vehicles.

C. All cars are polluting vehicles.

D. No cars are polluting vehicles.

Choose the correct answer from the options given below:

1.Cand D only
2. A and B only
3.B and C only
4. A and Conly

1) 1
(2) 2
3) 3




(4) 4

Ffeiad # 9 o ufaaitaal 39 YHR Yaitd & @1 d aiFl $8d 98l 8l 9@dl 6, 99U d aHl 9 8l Hadi 6 ?
A. TS BR UGED dle sl &

B. T@ BN UGH® dle- gl ol ol

c. Tuft &R Ugu® are- sl 8|

D. @3 Hfl R UgH® die el idl 8

Teffr e A A T I

1.®ad C 3R D
2. %Had A 3R B
3. ®ad B 3R C
4. PIAAARC

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29213] Question Description : dwbv_pg_gp24_eng_2_q29
2[Option ID=29214]

3[Option ID=29215]
4[Option ID=29216]

Sl. No.30
QBID:24201030

According to classical Indian School of logic (Nyaya) which of the following arguments involves the fallacy of
ashrayasiddha?

1. The sky-lotus is fragrant, because it is a lotus, like the lotus of a lake.
2. Sound is not eternal because it is produced.

3. Sound is eternal because it is produced.

4. Sound is eternal because it is audible.

1) 1
() 2
3) 3
(4) 4

TR YR THRE & 918-9d & H9R FEfkiied 3 3 5w ofea & smyafis adb-gw 9iefa 27

1. HIBTE - HH Hd g Hiid I8 i & Ub HHA $I aig U HHd aidl o
2. @i =% g ¢ Fild Ug A DI il g

3. @ Wy & TP U8 I &I A1l o

4, @ WA & I T8 9 il 8

(1) 1

2) 2

3) 3

(4) 4

1[Option ID=29217] Question Description : dwbv_pg_gp24_eng_2_q30
2[Option ID=29218]

3[Option ID=29219]
4[Option ID=29220]

Sl. No.31
QBID:24201031




In ICT, which one of the following pairs of acronym and its expansicon is incompatible?

1.15P - Internet Service Provider
2. URL - Uniform Resource Locator
3. Blog - weB LOGic

4. VPN - Virtual Private Network

1)
(2)
(3)
(4)

A2 I A & Fufafad § @ oF 91 uitaull 9eg 3R 39 fG%R &1 9 3dTd 87

1. 378 U9 Ut - Se¥-c Aiaq UaEe
2.9 3R Ud - ZHEH R didet
3. ST - 9§ TP (weB LOGid)
4. 41 1 U - a3 WIgde Heddb

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=29221] Question Description : dwbv_pg_gp24_eng_2_q31
2[Option ID=29222]
3[Option ID=29223]
4[Option ID=29224]

Sl. No.32
QBID:24201032

A photograph occupies 10 MB of storage. A memory stick with 4GB capacity can store approximately such
photographs.

1. 300
2.400
3. 500
4. 450

(1)
(2)
(3)
(4)

A W N R

% BIeIE HSRU & 10 TH & R Bdl g1 df 4 Siie! &1 drell Ue H8R) fRed U8 81 @y fiod- Bieime & HSiid e
Hadl 82

1. 300
2.400
3. 500
4. 450

1)
(2)
(3)
(4)

A W N R

1[Option ID=29225] Question Description : dwbv_pg_gp24_eng_2_q32
2[Option ID=29226]
3[Option ID=29227]
4[Option ID=29228]
|




Sl. No.33
QBID:24201033

Given below are two statements:

Statement |: You can read from and write to RAM, whereas you can read from ROM but you can't write to ROM.

Statement Il: CD-RW stands for Compact Disc- ReWritable and can be written to and modified many times, whereas CD-R
stands for compact Disc- Recordable and R here indicates that the disc is recordable once only.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1)
(2)
(3)
(4)

A W N =

DY - | : 319 W (RAM) U Ug Udhd & IR I W forg Gavd g, Siaids 31U I[H (ROM) ¥ UG Tdvd & g 319 IH U feRg =gl
I&d ol

DY - 1| : UIS1-3IR S&cg Bl R BT (3% - RASead 8 SR 39 W [oral Sl Yol § adl 34 &3 aR YRNTed foar s
THdl &, Taic TISI-HR BT A FHdE [555- RPIead & 3R T8l AR 371d Tdl & [& I8 $ad Ue 9R RPls arg gl

St B & s # Rafied el § @ 98 SR

1. WY | R 11 GFf Tl 8l
2. ®YT 1 3R 11 GF TR B
3. @Y1 98l &, g @Y 11 Tad B
4. Y| TAd &, g Y 1 T@T B

1)
(2)
(3)
(4)

A W N R

1[Option ID=29229] Question Description : dwbv_pg_gp24_eng_2_q33
2[Option ID=29230]
3[Option ID=29231]
4[Option ID=29232]

Sl. No.34
QBID:24201034




Using the Ribbon in MS-WORD software, the Word count command/ feature displays the number of words as well as the
number of in the current document.

A. Lines

B. Characters

C. Paragraph

Choose the correct answer from the options given below:

1. A and B only
2. A and Conly
3.B and C only
4. A BandC

1)
(2)
(3)
(4)

A W N R

T U 98 Uteatr H ReH &1 U8 3d gU, 95 PIde (st TVH]) BHIS B daHH SidgHe H Leal & YT & Try-a1Yy
Frafafad o «ff den uefkid exdl & -

A. TTRA

B. Ul (i)

C. 3fa (RPIH)

e fgu e faweul § 9 98l S -

1. Bad A AR B
2. PAAAARC
3.®dd B R C
4.7 B3RC

1)
(2)
(3)
(4)

A W N =

1[Option ID=29233] Question Description : dwbv_pg_gp24_eng_2_q34
2[Option ID=29234]
3[Option ID=29235]
4[Option ID=29236]

Sl. No.35
QBID:24201035




Which of the following statements are correct?

Most web browsers:

A. have a HOME page.

B. have the ability to store user's favourite websites /pages.

C. keep a history of the websites visited by the users.

D. give the ability to go backward and forward to websites opened.
E. provide the user with access to Internet

Choose the correct answer from the options given below:

1.D and E only

2. A, Cand D only
3.A Cand E only

4. A, B, Cand D only

1)
(2)
(3)
(4)

A W N =

fFrafiad # 4 ®H d ST Ui § 2

HRHTR dd FIoR:

A. BT U gIHUS gl &

B. H WdIGa13fl & Udcial dasIgel/Usl ® Hied H- ®I &Hdl gidl 6|
C. Wi g1 &4l Tl dewgel &1 fe%l ((HeRY) 30+ U 39d |
D. Gl i dewrgel & 3Rt IR Ui 9 @t armef ueH &wd B

E. TG @ SeX-e AHTTH UgH &d ol

e T el H A W SR -

1.®aa D 3R E

2. %ad A, C3R D
3.Bad A CIRE
4. PIAA, B, C HR D

1)
(2)
(3)
(4)

A W N R

1[Option ID=29237] Question Description : dwbv_pg_gp24_eng_2_q35
2[Option ID=29238]
3[Option ID=29239]
4[Option ID=29240]

Sl. No.36
QBID:24201036




Wind farms are?

1. Places where winds blow at a speed of more than 5 m/s.

2. Potential places of wind energy generation.

3. Places where winds help in good farming practices.

4. Large concentrations of wind generators producing electricity.

1) 1
(2) 2
3) 3
(4) 4

T eH A g

1. 98 ®IF W8l UaH 5 Hiey/Ade 31 71fd T +4fie R yarfed gidl

2. UgH il Sl & HHeT &id

3. 98 W S5l Ua 399 $i - ST § Ggd oidl o

4. faggd SaeA & ol ugd I Redl @edd)) @1 9ed WX W Gagul

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29241] Question Description : dwbv_pg_gp24_eng_2_q36
2[Option ID=29242]

3[Option ID=29243]
4[Option ID=29244]

Sl. No.37
QBID:24201037

Match List | with List 11

List | List Il

Pollution Source Category

A. Sewage I. Thermal Pollution

B. Agricultural Fertilizers Il. Sediments

C. Land Erosion ll. Oxygen demanding waste
D. Power Plants IV. Plant Nutrients

Choose the correct answer from the options given below:

TA-IILE-IV,C-1,D-1
ZA-NLB-IV,C-1I,D-1
JA-ILB-LC-U,D-IV
4A-1IL,B-1,C-1V,D-1I

1) 1
(2) 2
(3) 3
(4) 4




Tt -1 B gt -1 o gaferd st :

gl -I i -1

PIALETIR] gt

A, TSI I TT4TT Ugwor

B. PIY-Idd® II. 3G (dASC)

C. Y-3URGA I11. e 1 are ufip
D. Sull-HaA Iv. OTGY UiY@dd

< feu 0 fadent # 9 98 SR 9T

T.A-ILB-IV,C-1,D-1
2ZA-NLB-IV,C-Il,D-1
JA-ILB-LC-NI,D-IV
4A-1LB-LC-IV,D-1I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29245] Question Description : dwbv_pg_gp24_eng_2_q37
2[Option ID=29246]

3[Option ID=29247]
4[Option ID=29248]

Sl. No.38
QBID:24201038

Which of the following are overwhelming evidence of climate change?

A.In Alaska, Western Canada and Eastern Russia average temperatures have increased by over 4°C during past 50 years.
B. Tropical regions have warmed much faster than rest of the world.

C. Mount Kilimanjaro has lost 85% of its famous ice cap since 1915.

D. Over the last century the average global temperature has climbed 0.6 °C.

Choose the correct answer from the options given below:

1. A B and C only
2. A, Cand D only
3.B,Cand D only
4.B and C only

1) 1
(2) 2
(3) 3
4) 4




fFofifaa o @ Saarg aRadq & <iafie ied oiH-9 82

A. CIDT, Ui SH1ST 3R Ydl &9 5 50 981 & GRM 3{19d dIYHH 4° Uiy 9§ 3ifdd g¢ 1 gl
B. SWIdGica ey &= fay & 37 &Flf @Y e e ool 4 T gu gl

C. a4 1915 ¥ A [BaHER! Udd & Uit [BHRRER 85% T 81 9o &

D. el widledl & GRM 3ied aifie af® dIuHM 0.6° SicHad ¥ iU g1 T g

I feu T faeeal § 9 9 SR -

1. Had A, B AR C
2.%ad A, C3R D
3.%ad B, C AR D
4. %aAB AR C

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29249] Question Description : dwbv_pg_gp24_eng_2_q38
2[Option ID=29250]

3[Option ID=29251]
4[Option ID=29252]

Sl. No.39
QBID:24201039

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Many human activities increase both the severity and frequency of floods.

Reason (R) : Paved roads and parking lots increase water infiltration into the soil and slow down the rate of run off in
streams and lakes.

In light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R} is false.

4. (A) is false but (R) is true.

(1) 1
(2) 2
(3) 3
(4) 4

G Y CUIU R : Ud @l DY (A) IR GHY Bl BRU (R) Bl ™I 8l
AU (A) : HDT BHFEY TafafidT ag ®1 THsdl 3R aRaRdl, aF1 § 3fE B &

DRU (R): R B T Ugdh 3R Ui - WS HaT H 9d 3fck: e & 9e1d o AR 4RI IR idl o 9519 3 X 3 i
Fdal

St Bl B e | Rigifed feed § 3 98 SR 9

1. (A) 3R (R) THF GBI € 9iR (R), (A) D! U8 ARAT B

2. (A) IR (R) THT T8I & T (R), (A) B TE! AT Tl o
3. (A) 8l § U3 (R) Fol Tel &

4. (A) T8l T8l & IR (R) Tl &




(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=29253] Question Description : dwbv_pg_gp24_eng_2_q39
2[Option ID=29254]

3[Option ID=29255]
4[Option ID=29256]

Sl. No.40
QBID:24201040

The "Loss and Damage’ funding in the context of climate change impacts was agreed upon by the international community
at

1. COP 25
2.COP 26
3. COP 21
4. COP 27

1)
(2)
(3)
(4)

RIPIT G Sicarg uRdd & HI & de F g1 3iR e e @l ts S89 hign) w Rafaled 3 9 foad gend
g UT?

1. W3 G (cop) - 25

A W N R

2. 43 - 26
3. WA - 21
4. T3, - 27

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=29257] Question Description : dwbv_pg_gp24_eng_2_q40
2[Option ID=29258]
3[Option ID=29259]
4[Option ID=29260]

Sl. No.41
QBID:24201041

Given below are two statements:

Statement |: According to ancient Hindu system of Education an aspect of education which is emphasized by the upholders
of education in democratic society is that education should be free as far as practicable.

Statement II: According to ancient Hindu system of education an aspect of education which is emphasized by the upholders
of education in democratic society is that education should be compulsory as far as practicable.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.

3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

(1) 1
(2) 2
3) 3




(4) 4

B ERAR A AT U

HY - | W {2 e Usfd & o ER diwdits 9o & 181 & Wiaes! gR 11 &1 06 vy S R sa o e | e
fa fRien Sigt a@ oraeR® &, -y gt Tifigul

DY - 11 : UM feg I8 Ugfd & 3MUR diedite wars | sl & Uldes! gR1 &1 o1 te ug 5" W 9d fear g 98 &
o fRre wigt da oae® g, ifard i =rfgul

JudE Yl & 3Tl F MEfiREd [deeul § 9 981 W I

1. B R 11 GFf Tel Bl
2. YA | SR 11 Gl Tad 8
3. @Y | Tel g, faog YA 11 7Tad g
4. @Y1 71Ad & , fb=g BYE 11 98l Bl

1)
(2)
(3)
(4)

A W N R

1[Option ID=29261] Question Description : dwbv_pg_gp24_eng_2_q41
2[Option ID=29262]
3[Option ID=29263]
4[Option ID=29264]

Sl. No.42
QBID:24201042

According to NEP 2020, the first vertical of Higher Education Commission of India (HECI) will be the

1. National Accreditation Council (NAC)

2. National Education Regulatory Council (NHERC)
3. General Education Council (GEC)

4. Higher Education Grants Council (HEGC)

(1)
(2)
(3)
(4)

A W N R

T3 & i (@3.01) 2020 & IR YR & IddR [T SRIRT (Td.3.91.3115.) BT UYH S g

1. WFTE v uReg (e

2. TIPTY TR e uRvg (T1.U9E.3REl)
3. I e ofeg s

4. FeaR & 3GH URYG (T340

1)
(2)
(3)
(4)

A W N =

1[Option ID=29265] Question Description : dwbv_pg_gp24_eng_2_q42
2[Option ID=29266]
3[Option ID=29267]
4[Option ID=29268]

Sl. No.43
QBID:24201043




Given below are two statements:

Statement |: According to National Education Policy document, the teacher must be the locus of basic reforms in the
country’'s educational reforms.

Statement |I: Historically marginalised or the disadvantaged student sections of the society should get paid quality
education irrespective of their place of residence.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1)
(2)
(3)
(4)

A W N R

B - | AP e Fifd THIES & AR e @1 $¥ & Aere-urT H qo GurT & fég uy g =igul

@Y - 11 : UfEIT® &9 ¥ SUidig 91 941N & SR Rufd ard faemd avf &1 3+ Fary-®H FRug aa-Tuadias Rial
PEHEEAREIE IR

St B & s # Rafied el § @ 98 SR

1. % 1 3R 11 GHT 5 B
2. ®YT 1 3R 11 GF TR B
3. @Y1 98l &, g @Y 11 Tad B
4. Y| TAd &, fog dYE 1 TT B

1)
(2)
(3)
(4)

A W N R

1[Option ID=29269] Question Description : dwbv_pg_gp24_eng_2_q43
2[Option ID=29270]
3[Option ID=29271]
4[Option ID=29272]

Sl. No.44
QBID:24201044

Which of the following Universities threw all University examinations open to girls in 18837

1. Allahabad University
2. Bombay University
3. Delhi University

4. University of Madras

1)
(2)
(3)
(4)

A W N =




Fufeiad o 9 foy fayfaenea = 1983 H fqufdeney o @il wiansi & e dsieal f safla ¢ &l 2

1. gellglag [ayfdemed
2. 913, [qyfaere™
3. fecit fayfaemeg
4. Tz fqyfaerd

1)
(2)
(3)
(4)

A W N R

1[Option ID=29273] Question Description : dwbv_pg_gp24_eng_2_q44
2[Option ID=29274]
3[Option ID=29275]
4[Option ID=29276]

Sl. No.45
QBID:24201045

Given below are two statements:

Statement |: Xuan Zang visited India and became a student of Takshashila University.

Statement II: Xuan Zang visited India and became a student of Yogashastra.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.

3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1)
(2)
(3)
(4)

A W N R

dR Py RuUE:

DY - | - g T YR 311 SR dafien faufaenea o faemif =
HU - 1| - & T U 3T R G &1 faenedf &

Iudead HYAl b 3M1ciie H Faitiad Gl # 4 98l Su g

1. Y | SR 1 &F TR B
2. %Y | AR 11 G TTad & |
3. @Y | Tel g, faog YA 11 7Tad g
4. @Y1 71Ad & , fb=q BY 11 98T Bl

1)
(2)
(3)
(4)

A W N R

1[Option ID=29277] Question Description : dwbv_pg_gp24_eng_2_q45
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Read the passage and answer the question that follows :

Indian rulers, particularly the Pala and Sena rulers of Bengal, and the Pallava and Chola rulers of south India, tried to
encourage the trade with China.

The Chola ruler, Rajendra 1, sent a naval expedition against Malaya and neighbouring countries to overcome their
interference in the trade with China.

There is evidence to show that there were many shipyards in south India, Orissa and Bengal engaged in the construction of
ships. Such, shipyards were also located on the west coast including Gujarat. Thus, growth of India’s foreign trade in the area
was based on a strong naval tradition, including ship building and a strong navy, and the skill and enterprise of its traders.
The Chinese trade was very favourable to the countries engaged in it, so much so that in the thirteenth century, the Chinese
government tried to restrict the export of gold and silver from China. Indian ships gradually gave way to the Arabs and the
Chinese whose ships were bigger and faster. We are told that the Chinese ships were several storeys high and carried 600
passengers apart from 400 soldiers. An important factor in the growth of the Chinese ships was the use of a primitive
Mariner's compass an invention which later travelled from China to the West.
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The naval expedition against Malaya was sent by a

1. Pala ruler

2. Sena ruler
3. Pallava ruler
4. Chola ruler

1) 1
(2) 2
3) 3
(4) 4
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Read the passage and answer the question that follows :

Indian rulers, particularly the Pala and Sena rulers of Bengal, and the Pallava and Chola rulers of south India, tried to
encourage the trade with China.

The Chola ruler, Rajendra 1, sent a naval expedition against Malaya and neighbouring countries to overcome their
interference in the trade with China.

There is evidence to show that there were many shipyards in south India, Orissa and Bengal engaged in the construction of
ships. Such, shipyards were also located on the west coast including Gujarat. Thus, growth of India’s foreign trade in the area
was based on a strong naval tradition, including ship building and a strong navy, and the skill and enterprise of its traders.
The Chinese trade was very favourable to the countries engaged in it, so much so that in the thirteenth century, the Chinese
government tried to restrict the export of gold and silver from China. Indian ships gradually gave way to the Arabs and the
Chinese whose ships were bigger and faster. We are told that the Chinese ships were several storeys high and carried 600
passengers apart from 400 soldiers. An important factor in the growth of the Chinese ships was the use of a primitive
Mariner's compass an invention which later travelled from China to the West.
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Given below are two statements:

Statement I: Trade between India and China always occured in the Chinese ships as these were always better than the Indian
ships.

Statement |I: Malaya was located in Kerala.
In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1) 1
) 2
3) 3
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Read the passage and answer the question that follows :

Indian rulers, particularly the Pala and Sena rulers of Bengal, and the Pallava and Chola rulers of south India, tried to
encourage the trade with China.

The Chola ruler, Rajendra 1, sent a naval expedition against Malaya and neighbouring countries to overcome their
interference in the trade with China.

There is evidence to show that there were many shipyards in south India, Orissa and Bengal engaged in the construction of
ships. Such, shipyards were also located on the west coast including Gujarat. Thus, growth of India’s foreign trade in the area
was based on a strong naval tradition, including ship building and a strong navy, and the skill and enterprise of its traders.
The Chinese trade was very favourable to the countries engaged in it, so much so that in the thirteenth century, the Chinese
government tried to restrict the export of gold and silver from China. Indian ships gradually gave way to the Arabs and the
Chinese whose ships were bigger and faster. We are told that the Chinese ships were several storeys high and carried 600
passengers apart from 400 soldiers. An important factor in the growth of the Chinese ships was the use of a primitive
Mariner's compass an invention which later travelled from China to the West.
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Which among the following factors played an important role in India’s trade with China?
A. Ship building in India

B. Strong navy

C. Skill and enterprise of the traders.

Choose the most appropriate answer from the options given below:

1. A and B only
2.B and C only
3.Aand Conly
4.4 BandC

1) 1
(2) 2
3) 3
(4) 4
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Read the passage and answer the question that follows :

Indian rulers, particularly the Pala and Sena rulers of Bengal, and the Pallava and Chola rulers of south India, tried to
encourage the trade with China.

The Chola ruler, Rajendra 1, sent a naval expedition against Malaya and neighbouring countries to overcome their
interference in the trade with China.

There is evidence to show that there were many shipyards in south India, Orissa and Bengal engaged in the construction of
ships. Such, shipyards were also located on the west coast including Gujarat. Thus, growth of India’s foreign trade in the area
was based on a strong naval tradition, including ship building and a strong navy, and the skill and enterprise of its traders.
The Chinese trade was very favourable to the countries engaged in it, so much so that in the thirteenth century, the Chinese
government tried to restrict the export of gold and silver from China. Indian ships gradually gave way to the Arabs and the
Chinese whose ships were bigger and faster. We are told that the Chinese ships were several storeys high and carried 600
passengers apart from 400 soldiers. An important factor in the growth of the Chinese ships was the use of a primitive
Mariner's compass an invention which later travelled from China to the West.
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Indian rulers from which of the following regions tried to encourage trade with China?
A. Bengal

B. Gujarat

C. South India

Choose the correct answer from the options given below:

1. A and B only
2.B and C only
3.Aand Conly
4.4 BandC

1) 1
(2) 2
3) 3
(4) 4
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Read the passage and answer the question that follows :

Indian rulers, particularly the Pala and Sena rulers of Bengal, and the Pallava and Chola rulers of south India, tried to
encourage the trade with China.

The Chola ruler, Rajendra 1, sent a naval expedition against Malaya and neighbouring countries to overcome their
interference in the trade with China.

There is evidence to show that there were many shipyards in south India, Orissa and Bengal engaged in the construction of
ships. Such, shipyards were also located on the west coast including Gujarat. Thus, growth of India’s foreign trade in the area
was based on a strong naval tradition, including ship building and a strong navy, and the skill and enterprise of its traders.
The Chinese trade was very favourable to the countries engaged in it, so much so that in the thirteenth century, the Chinese
government tried to restrict the export of gold and silver from China. Indian ships gradually gave way to the Arabs and the
Chinese whose ships were bigger and faster. We are told that the Chinese ships were several storeys high and carried 600
passengers apart from 400 soldiers. An important factor in the growth of the Chinese ships was the use of a primitive
Mariner's compass an invention which later travelled from China to the West.
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Shipyards in India were located at

A. Bengal

B. Orissa

C. South India

D. Gujarat

Choose the most appropriate answer from the options given below:

1. A B and C only
2. A and Conly
3.A, Cand D only
4. A B, CandD

(1)1
(2) 2
(3) 3
(4) 4
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Which of the following is not true in case of Indifference curves?

1. The Indifference curves are usually convex or bowed inward.

2. Indifference curve for two goods that are perfect compliments is shaped as right angles.

3. Indifference curve for two goods that are perfect substitutes is a downward sloping straight line.
4. Indifference curve for two normal goods is a downward sloping straight line.

1) 1
) 2
3) 3
(4) 4
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Which one of the following is not true in case of producer's equilibrium?
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(1) 1
(2) 2
3) 3
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A game in which the gains or losses of one player or firm do not come at the expenses of or provide equal benefit to the
other player or firm, is known as

1. Zero-5um game

2. Non-Zero S5um game
3. Mixed game

4. Balanced game

1) 1
(2) 2
3) 3
(4) 4
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The condition of preferring a risky income to a certain income with the same expected value is refered as :

1. Risk averse
2. Risk loving
3. Risk neutral
4. Risk premium

(1) 1
(2) 2
(3) 3
(4) 4
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arises when the firm can produce any combination of the two outputs more cheaply than could two independent
firms that each produced a single output.

1. Learner's curve

2. Economies of scale

3. Dis-economies of scale
4. Economies of scope

1)
(2)
(3)
(4)
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(2) 2
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In which oligopoly model, firms produce homogenous goods and each firm treats the price of its competitors as fixed and
all firms decide simultaneously, what price to change?

1. Betrand model

2. Cournot model

3. Stackelberg model
4. Sweezy model

1) 1
(2) 2
3) 3
(4) 4
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Who wrote that "every man thus lives by exchanging or becomes in some measure a merchant, and the society itself grows
to be what is properly a commercial society.’

1. Milton Friedman
2. Keynes

3. Benjamin Olken
4. Adam Smith

1) 1
(2) 2
3) 3
(4) 4
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The Sticky-Price Model is

1. The upward sloping short run aggregate supply curve
2. The upward sloping long run aggregate supply curve
3. The downward sloping short run Aggregate Demand curve
4. The downward sloping long run Aggregate Demand curve

1)
(2)
(3)
(4)
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If the demand for labour increases, then

1. Real wage rises

2. The amount of labour employed increases
3. Both 1 and 2 happen

4. None of the above

(1) 1
) 2
3) 3
4) 4
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Macroeconomics distinguishes between real economy and

1. Virtual economy

2. Monetary economy

3. Normative economy

4. Underground economy

1)
(2)
(3)
(4)
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4[Option ID=28740]

Sl. No.11
QBID:1011

In accelerator theory, capital output ratio is assumed to be

1. Increasing

2. Independent from level of National income
3. Decreasing

4. Constant

1)
(2)
(3)
(4)

A W N R




@R (URiaer) Ragid |, dell Fid o ud & a1 9 g -

1. 96l gaf

2. TP 3G & TR WA
3. U 3

4. R

1)
(2)
(3)
(4)

A W N R

1[Option ID=28745] Question Description : dwbv_pg_eco_eng_2_q11
2[Option ID=28746]
3[Option ID=28747]
4[Option ID=28748]

Sl. No.12
QBID:1012

Government spending is

1. a second element of autonomous expenditure.
2. to be controlled by policy makers.

3. does not depend directly on the level of income.
4. All of the above

1)
(2)
(3)
(4)

ST T (o99) BIdT § -

1. WO oY &1 fgdid dd

2. g if i gr FaEa s g

3. A & R UR 98 Wegd: (R (3n1f3a) &1 elar &
4. IURad gt

A W N =

1)
(2)
(3)
(4)

A W N R

1[Option ID=28749] Question Description : dwbv_pg_eco_eng_2_q12
2[Option ID=28750]
3[Option ID=28751]
4[Option ID=28752]

Sl. No.13
QBID:1013

Find the variance of random variables which constitute the number of heads in a toss of two coins simultaneously.

1.1/2
2.1
3.2
4.4

1)
(2)
(3)
(4)

A W N R




39 TR IR & TR0l J1d Sifae ol & Gediiad ¥4 H gl [9a®] & 381 9 & GRMH 3¢ g8 (&6 & @ 4 S 8l

1.1/2
2.1
3.2
4.4

1)
(2)
(3)
(4)

A W N R

1[Option ID=28753] Question Description : dwbv_pg_eco_eng_2_q13
2[Option ID=28754]
3[Option ID=28755]
4[Option ID=28756]

Sl. No.14
QBID:1014

If the demand and supply functions are given P4 _ 20 -5x and P; = 4x +8; obtain Producer's surplus

1.31/9
2.32/9
3.129/9
4. 29/9

1)
(2)
(3)
(4)

A W N =

ofg AT SR MUl UHH (BaH) Py 20-5x R P, = 4x+8 & &0 H fGU MU f, & Sed IR @=q) Fwifed § 4 Ga
T 81 7

1.31/9
2.32/9
3.129/9
4.29/9

1)
(2)
(3)
(4)

A W N R

1[Option ID=28757] Question Description : dwbv_pg_eco_eng_2_q14
2[Option ID=28758]
3[Option ID=28759]
4[Option ID=28760]

Sl. No.15
QBID:1015

The demand function for Good A is given by Qp - 100 -2 Py + 0.2Y + 0.3 Pg,
Find the cross - price elasticities of demand at Pp= 6, Y=500, Pp=10.

1.0.06
2.0.016
3.0.52
4. -0.06

1) 1




) 2
3) 3
(4) 4

Ul a%g A & [T HFT UM (HTH) Qa = 100- 2Py + 0.2 Y + 0.3 Py GATTAT 81 Pa= 6, Y=500, Pg=10 TR AT ®I Hia-B A
SIEGIFIGEDIEN

1.0.06
2.0.016
3.052
4.-0.06

1)
(2)
(3)
(4)

A W N R

1[Option ID=28761] Question Description : dwbv_pg_eco_eng_2_q15
2[Option ID=28762]
3[Option ID=28763]
4[Option ID=28764]

Sl. No.16
QBID:1016

Test statistics used to test stationary of a time series in the presence of correlated error term is

1. Dickey - Fuller test

2. Engle- Granger test

3. Error - Correction mechanism
4. Augmented Dickey-Fuller test

1)
(2)
(3)
(4)

A W N R

egshid gfe Ug @1 Sufufe 3 5 g (@re) A0ft & Srud T 8 Wad e aran Sifege! whia FEied § § o
qWE?

1. TSl - Ber wdiam

2. U - TR e

3. 31¢ - geddy fharfdly @)

4. T (3FT= ) fEP1 - Her T&

(1)
(2)
(3)
(4)

A W N R

1[Option ID=28765] Question Description : dwbv_pg_eco_eng_2_q16
2[Option ID=28766]
3[Option ID=28767]
4[Option ID=28768]

Sl. No.17
QBID:1017




In logit model as P; goes from 0 to 1, logit L varies from

1.01t0 + e

2.-c0to + o0

3.0to1
4, -oto0
(1) 1
(2) 2
3) 3
4) 4

ditere Hisd Wiawq) 3, p, 0 T 1 W o1 5, dAitere L FHied § O g I 9@ i (afafda)

‘I.O-@+Do
2.-C>Oﬁ+oo
3.081
4.-%d0

(1)
(2)
(3)
(4)

A W N R

1[Option ID=28769] Question Description : dwbv_pg_eco_eng_2_q17
2[Option ID=28770]
3[Option ID=28771]
4[Option ID=28772]

Sl. No.18
QBID:1018

Find the Elasticity of Substitution (o) of Constant elasticity of substitution (CES) Production function. When the substitution
parameter(p) lies between 0= p<co

1.0=1
2.oa<«1
3.o=m
4.0=1

1)
(2)
(3)
(4)

A W N R

Ui @ R (Faa) 9= (@ 3 w9) 9 SaeT UoH B © 99 Wiaw™Te- id @1 71d ®iTeg forgd & nfases 9H6s
(p), 0 < p < oo & A AR AT

1l.o>1
2.a<1
3.og=m
40=1

(1)
(2)
(3)
(4)

A W N R

1[Option ID=28773] Question Description : dwbv_pg_eco_eng_2_q18
2[Option ID=28774]




3[Option ID=28775]
4[Option ID=28776]

Sl. No.19
QBID:1019

The regression model Yy= aq+az Dy + B +P2(YiDy) + Uy is used to

1. Deseasonalize a time series data

2. Analyze the seasonal trend in data

3. Analyse structural break in data

4. Analyse piecewise linear relationship in data

1)
(2)
(3)
(4)

A W N R

OfcRTHA BIST (W) Yi= g+ Dy + BiX + Ba(YiDy) + U, @I Fiifdrd fobd g Wgad fasar <iidl g 2

1. &4 99T [@1@) 4vit sfids @1 9 (R) 94 (Edieaige) & |
2. i®s | At (saft®m) v &1 GRew S|

3. diFe I IS W & Gy &1

4. HiHe & WIaR WD Yy BT G390 T |

1)
(2)
(3)
(4)

A W N R

1[Option ID=28777] Question Description : dwbv_pg_eco_eng_2_q19
2[Option ID=28778]
3[Option ID=28779]
4[Option ID=28780]

Sl. No.20
QBID:1020

A box of nine golf gloves contains two left handed and seven right-handed gloves. If two gloves are randomly selected from
the box without replacement, what is the probability that one is left-handed and the other is a right-handed glove?

1.7/12
2.2/9
3.7/18
4.1/9

1)
(2)
(3)
(4)

A W N R

= 7T To7eT (GX) dldl Ud aiad forgs gl 91 81 & UgH & ardl 3R 91d glfe- 81y ¥ Ug- 9H alcl e ¥ U g1 afe &l
GEAMFl @I f831 UGG (3HGT - 960) & dia9 H JIefesd U H g1 ofld] ¢, a9 59 §1d &1 Wildddl fdbd- ¢ fdr U and g1y H
Ug1 S dIefl 3R Teb &IU 51 H UgH1 Sl J1ell Gl (efss) B2

1.7/12
2.2/9
3.7/18
4.1/9

1) 1




(2) 2

3) 3

(4) 4

1[Option ID=28781] Question Description : dwbv_pg_eco_eng_2_q20
2[Option ID=28782]

3[Option ID=28783]
4[Option ID=28784]

Sl. No.21
QBID:1021

Which institution has published the Human Development Report annually since 19907

1. International Monetary Fund

2. World Bank

3. Asian Development Bank

4. United National Development Programme

(1)1
(2) 2
(3) 3
(4) 4

FofaRad ¥ 9 ®1-91 TH 91fte U H a4 1990 I A4 [GH™ U &1 UHRH aidl & 7

1. S{RIPIY o1 DIY

2. fayda

3. URETs fde d&

4. 9ga Y faoTe SrisH

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28785] Question Description : dwbv_pg_eco_eng_2_q21
2[Option ID=28786]

3[Option ID=28787]
4[Option ID=28788]

Sl. No.22
QBID:1022

Which Five year plan proposed to make India, "Self-reliant and Self generating economy"?

1. 1I"® Five year plan
2. 1Y Five year plan
3. V" Five year plan
4. vt Five year plan

1)
(2)
(3)
(4)

Y Ugadig gieHT § YRd @ AR 3R W-JdeTeR! siicigwir S &1 UdId far /7 o 7

1. To<fia daadia giemn
2. it daauig aie
3. 9qd UFauTg gieHE

4. Uigdl daaufy gie

A W N R

1) 1




(2) 2

3) 3

(4) 4

1[Option ID=28789] Question Description : dwbv_pg_eco_eng_2_q22
2[Option ID=28790]

3[Option ID=28791]
4[Option ID=28792]

Sl. No.23
QBID:1023

The birth of World Trade Organisation emerged from which round?

1. Geneva

2. HongKong
3. Uruguay
4. Tokyo

1)
(2)
(3)
(4)

% TR TMTH B RI9E Fifed g e & IRumRaE Y ga ol ?

1. oiFal
2. g
3. 3%
4.2l

A W N =

(1)
(2)
(3)
(4)

A W N R

1[Option ID=28793] Question Description : dwbv_pg_eco_eng_2_q23
2[Option ID=28794]
3[Option ID=28795]
4[Option ID=28796]

SI. No.24
QBID:1024

Total Budget Allocation in year 2022-23. For “Har Ghar, Nal Se Jal" in rupees is:

1. 50,000/- crore
2. 80,000/- crore
3. 60,000/- crore
4, 70,000/- crore

1)
(2)
(3)
(4)

A W N R

qy 2022-23 & §9ic H " R A0 4 oa” Ui 6g Pl goie Sac [bal Ml 6 :

1. 50,000 TS HUY
2. 80,000 TG TUT
3. 60,000 TS BUY
4.70,000 BUS FUY

1) 1




(2) 2

3) 3

(4) 4

1[Option ID=28797] Question Description : dwbv_pg_eco_eng_2_q24
2[Option ID=28798]

3[Option ID=28799]
4[Option ID=28800]

Sl. No.25
QBID:1025

A toll is a tax on those citizens who use toll roads. This policy can be viewed as an application of

1. The benefit principle
2. Horizontal equity

3. Vertical equity

4. Tax progressivity

1) 1
(2) 2
3) 3
(4) 4

2Id, I NG| gRT & 2d AUTRT G5 &1 SUTR 33d & S R a7 a1a U &R & | T8 Hid Fgiead 1 U@ & SUanT
SEUH g ST gadi 8 7

1. o4 g

2. GHER Uimdl

3. faumRadg Uit
4. D WTfaierdr

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28801] Question Description : dwbv_pg_eco_eng_2_q25
2[Option ID=28802]

3[Option ID=28803]
4[Option ID=28804]

Sl. No.26
QBID:1026

Which of the following formulae is used to measure the tax mutiplier:

| _—MPC
"1—MPC
5 1
"1—MPC
1— MPC
" MPC
2— MPC
MPC
1) 1
(2) 2
3) 3

(4) 4




FufiRad S I 3 &1 UaF 3R - Ui &l 719 H fdar o ¢ ?

| _—MPC
"1—MPC
5 1
"1—MPC
5 1= MPC
" MPC
2— MPC
MPC
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=28805] Question Description : dwbv_pg_eco_eng_2_q26
2[Option ID=28806]
3[Option ID=28807]
4[Option ID=28808]

Sl. No.27
QBID:1027

The Free-rider problem arises:

1. when goods are congestible.

2. when goods are of a rival nature.

3. when number of beneficiaries is large and exclusion of any one of them is impossible.
4. when goods are available freely but on a first cum first serve basis till stocks last.

1)
(2)
(3)
(4)

A W N R

WSS (U HR T T 99 30 gidl § o :-

1. 953 BT HR-AR ("D ierd) el 5|

2. a5y ufaeadf ey &1 i B

3. TGt @t T e (@2 Bt & SR 3 I fredt &t a1er @ sy g 2

4. T AF T I gl € fivg i & YA B T Ugdl 13, Ul I3l & YR 0 &1 i1l &

1)
(2)
(3)
(4)

A W N R

1[Option ID=28809] Question Description : dwbv_pg_eco_eng_2_q27
2[Option ID=28810]
3[Option ID=28811]
4[Option ID=28812]

Sl. No.28
QBID:1028

The money supply in the IS-LM model is assumed to be

1. Real narrow money
2. Nominal money supply
3. Nominal Broad money
4. Real money supply

1) 1
(2) 2




3) 3
(4) 4

TS U9 - UG vy Higd (Gsia) 3 ger onafd & 5F S E

1. ARATd® G@H 10 Gal

2. ATHHE-HE Yl
3. ifdhd IS HgT
4. 9 H Rydds, J51 (DG, (dRdidd) gl

1)
(2)
(3)
(4)

A W N R

1[Option ID=28813] Question Description : dwbv_pg_eco_eng_2_q28
2[Option ID=28814]
3[Option ID=28815]
4[Option ID=28816]

Sl. No.29
QBID:1029

Which of the following two economists are associated with the problem of time inconsistency?

1.J. M. Keynes and Joan Robinson
2. Kydland and Prescott

3. Baumol and Tobin

4. Friedman and Scwartz

(1)
(2)
(3)
(4)

Fafafad & € - el a9y oo & 99 O gefda g 2
1. SL.UH. B 3R S Ufag
2. fFsavs - tgdic

3. SI3H - 2lfg
4. WBIgHA - WIcH

A W N R

1)
(2)
(3)
(4)

A W N =

1[Option ID=28817] Question Description : dwbv_pg_eco_eng_2_q29
2[Option ID=28818]
3[Option ID=28819]
4[Option ID=28820]

Sl. No.30
QBID:1030

The Value-Trade ratio captures trading relative to the size of the

1. economy

2. market

3. market and economy
4. none of these

1 1




) 2
3) 3
(4) 4

Hed AR U @ ATHR & G IR B GHIed Hedl 8l

1. ffooaw
2. 9WR
3. SR 3R fogawr

4. %18 it =Tal

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=28821] Question Description : dwbv_pg_eco_eng_2_q30
2[Option ID=28822]

3[Option ID=28823]
4[Option ID=28824]

Sl. No.31
QBID:1031

“Under-developed countries are the slums of the world economy”, is a statement given by

1. Keynes

2. G. Myrdal

3. Adam Smith
4, Cairncross

1) 1
(2) 2
3) 3
(4) 4

g @u fouel & & -oreu-fasfia o fay erfoaw ot afem st &

1. @4

2. firefa
3.UsH fay
4, BB

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28825] Question Description : dwbv_pg_eco_eng_2_q31
2[Option ID=28826]

3[Option ID=28827]
4[Option ID=28828]

Sl. No.32
QBID:1032

The greater the divergence between the shadow price and the market price:

1. the greater the need for social cost-benefit analysis in public investment decisions.
2. the lesser the need for social cost-benefit analysis in public investment decisions.
3. then there will be no social benefit in public investments.

4. then the social cost will be minimum.

1) 1




) 2
3) 3
(4) 4

Hicud BT IR I9R PIAT & T AUH (F31) [THE st df -

1. Gideiie M9 faHyg o gmifers arma-am fa=eun g Sfafts (us) Hawds
2. grae-e Rl [aFe o gmifse darTd-ard [a=auu g $H0G Saxdd
3. Gidwii-i@ 9% § ®ig qHEIfaid ary Tal ell

1)
(2)
(3)
(4)

A W N R

1[Option ID=28829]
2[Option ID=28830]
3[Option ID=28831]
4[Option ID=28832]

4. QI TRT - “gAqH SR

Question Description : dwbv_pg_eco_eng_2_q32

Sl. No.33
QBID:1033

Which one of the following pairs is NOT correctly matched?

Author

Book

1. Simon Kuznets

\Asian Drama

2. ). Robinson

Essays on the Theory of Economic growth

3. Karl Marx

Das Capital

4. Arthur W. Lewis

Theory of Economic Growth

1.1
2.2
3.3
4.4

(1) 1
(2) 2
3) 3
(4) 4

FrafiRad & 9§ -9 9 Wel o 9 gHfaa el & 7

EECH BESEa
1. ISFA Toe R S
2. 9. e T 3 § @Rl 3 SHHES a1y
3. BIo AR a9 dided
4. oM} Seeg oifaw W #HIE SHHHS Ty
1.1
2.2
3.3
4.4
1) 1
(2) 2
3) 3
@) 4




1[Option ID=28833] Question Description : dwbv_pg_eco_eng_2_q33
2[Option ID=28834]
3[Option ID=28835]
4[Option ID=28836]

Sl. No.34
QBID:1034

Which of the following is not true about the basic postulates of the Malthusian Perspective on population?

1. The human population will invariably grow where the means of subsistence increase
2. The total amount of land available for agriculture is immutably fixed

3. Factor substitutions and technological advances can alleviate resource scarcities

4. The growth of population is limited by the amount of food available for subsistence

1) 1
(2) 2
3) 3
4) 4

AIR-IRTET S Yeel fiftd gummi & ar J Fefatad SH-a 98 18 8

1. 9Ha SHEE H 2uiad ®U 9 gig g S Siae-Fafe & weEi 7 gis g 2
2. DI g SUd $d Y uiad-a 9 8 Fad g g1

3. BRS WdRIIA 3R Ueifie g 3afd SeFf & Sv1E &1 &F (1) B 96d o

4. FTEE - gfg, SiaA-Fafe gq Sude @ verd g1 diffa gt B

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=28837] Question Description : dwbv_pg_eco_eng_2_q34
2[Option ID=28838]

3[Option ID=28839]
4[Option ID=28840]

Sl. No.35
QBID:1035

Which of the following criterion is used to judge the performance of instruments for environmental policy?

1. Ensuring that for each firm, the marginal abatement cost is equal to the marginal damage from pollution
2. Achieving equality of marginal abatement costs across polluters

3. Minimising the total cost of the externality to the society

4. All of the above

1) 1
(2) 2
3) 3
(4) 4

ygiaRuiig Hifd §q WY (SudRY) & e Yedl -y gg FafdRad 5 9 oF 3 AFeus &1 3T fedr Jidr ¢ ?

1. U8 GHHd &A1 far vedid B (@) S HiHr SU=EH AFTd, WgNUl d 8iH diell YIHT= &ffd & sXeR 8
2. 9t vgu®! & ufd SH SURMA a1l J SHFGT 9 BT

3. JAM & Hid aTerar Ge e B (G0 TR B a9 BT

4. IWRa Tt

1) 1
(2) 2
3) 3
(4) 4




1[Option ID=28841] Question Description : dwbv_pg_eco_eng_2_q35
2[Option ID=28842]
3[Option ID=28843]
4[Option ID=28844]

Sl. No.36
QBID:1036

Which of the following is true in the case of externality?

1. It is not related to human interactions

2. It is not tied to consumer sovereignty

3. It is based on higher order judgements of right and wrong
4. It is an amoral concept

(1)
(2)
(3)
(4)

aegdl & 4ay ¥ Fofdfea d A e el @ 2
1. U8 9F4-3-011 ol @ defid Ta1
2. T8 IUHIT BUYT & UeS el 8
3. I8 Ual 3R 7Tad deth 9= e Afal iR amaiia g1
4. T8 U% 3fad Jbed 5|

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=28845] Question Description : dwbv_pg_eco_eng_2_q36
2[Option ID=28846]
3[Option ID=28847]
4[Option ID=28848]

Sl. No.37
QBID:1037

What does the case of 'Immiserising growth' state?

1. Growth in richer nations would actually be self defeating
2. Growth in poorer nations would actually be self defeating
3. Growth in poorer nations would actually be self promoting
4. Growth in richer nations would actually be self promoting

1)
(2)
(3)
(4)

TR (Fife) 9afe a uy @ s Feifra f 3 aR-d e
1. 909 () o0 § 99fE araa | sier-fawaarant gift
2. IR-UUF (@H4ER) o2 H Ugis akad | H1d-[AhadieR] gl

3. IR-UUH (@HER) o2 H gfg arad H AH-IFgDN (HIcHE®) BFil|
4. 9UF (99%) Xl H 4afg add H HMdH-STSGRI (Micded) sifll

A W N =

(1)
(2)
(3)
(4)

A W N R




1[Option ID=28849] Question Description : dwbv_pg_eco_eng_2_q37
2[Option ID=28850]
3[Option ID=28851]
4[Option ID=28852]

Sl. No.38
QBID:1038

In which stage of the product cycle model, the imitating country starts under selling the innovating country in third
markets?

1. Stage - V
2. Stage - |l
3. Stage - I
4, Stage - IV

(1) 1
) 2
3) 3
4) 4

IS 9% HIST & (&Y TR0 H, AFI0dd] o¥ a4 (Gard) SR H, Fauddd@i o e @ [a%g &1 Ry $dl & ?

1. T -
2 T -1
3.0 - I
4. Wl - IV

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=28853] Question Description : dwbv_pg_eco_eng_2_q38
2[Option ID=28854]

3[Option ID=28855]
4[Option ID=28856]

Sl. No.39
QBID:1039

If the nominal tariff rate (t) on consumers of the final commodity is 10 percent; the ratio of the cost of the imported input to
the price of the final commodity in the absence of tariffs a; = 0.8; and the nominal tariff rate on the imperted input t; = 20%,
then find the rate of effective protection.

1.10%
2.8%
3.3%
4. -30%

(1) 1
) 2
3) 3
(4) 4




g 3ifaH gvg (@&]) & IHEIS W SHiRd URled &2 10 WA= § ; UReh! (a) BI o0 &Y o sifdq gug &) &9d gd
HAIAd T (3IFTd) &1 ARTd ST SH-UTd 0.8 ©, AR Sfad FHawr (A7) () U e WReh o 20% &, 79 WHId! H&0 &I
X T Bifery|

1. 10%
2. 8%
3.3%
4. -30%

1)
(2)
(3)
(4)

A W N R

1[Option ID=28857] Question Description : dwbv_pg_eco_eng_2_q39
2[Option ID=28858]
3[Option ID=28859]
4[Option ID=28860]

Sl. No.40
QBID:1040

The level of intra-industry index (T) can be measured as:

lroq- XM
T X+ M
X—M|
1T=1+|
X+M
3T=1- M
I |X+ M|
|X—M]|
4. T=1-
|X + M|
(1) 1
() 2
3) 3
(4) 4

3{d: N YD (1) S TR B U FTH A A Godl g :

lr=1- XM
T X+ M
X—M|
1T=1+|
X+M
3 T=1- M
I |X+ M|
|X — M|
4 T=1-"——
|X + M|
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=28861] Question Description : dwbv_pg_eco_eng_2_q40
2[Option ID=28862]
3[Option ID=28863]
4[Option ID=28864]

Sl. No.41
QBID:1041




Nash equilibrium represents

A. The outcome each time the game is played

B. Long-run equilibrium

C. A situation in which one player will not deviate, given the strategy of other player
D. Best response of the first mover

E. The pair of dominated strategies

Choose the correct answer from the options given below:

1. A B and C only
2.Band D only
3.B and C only
4. A, Cand D only

1)
(2)
(3)
(4)

A W N R

=1 9T (3 dheilieTH) URgd SRl § -
A T & TP SR wal o datt aRkomm
B. GreoIicis §Ie
c. 3= Faars! &t wHifa &1 @ fau fomn ag uhfufa foad o1 faarst s o 9o et &
D. UYH UgTidhd| & 9a9¥ Hidihdl
E. THTGEITSH 0Tl &1 g
i<l feu 1u fadedl & 4 981 SR g -
1.Ha A, B AR C
2. 59aB AR D

3. HaaB AR C
4. HIAA, C3R D

1)
(2)
(3)
(4)

A W N =

1[Option ID=28865] Question Description : dwbv_pg_eco_eng_2_q41
2[Option ID=28866]
3[Option ID=28867]
4[Option ID=28868]
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Which of the following are correct about loanable fund theory?

A. Dishoarding is a major source of supply of loanable funds.

B. Demand for hoarding is inversely related to the interest rate.

C. Equality between demand and supply of loanable funds is the only condition required for a stable equilibrium.
D. Wicksell was one of the propounders of the theory.

E. It introduced monetary factors into the theory of interest.

Choose the correct answer from the options given below:

1. A B and D only
2.C, Dand E only
3.B, D and E only
4. A Dand E only

1)
(2)
(3)
(4)

A W N R

ffeiad 4 9 B sv-Hgid s IR H HH-8 981§ 2
A. UG BY B YA & THE wW@id 5 STHRER] (S99) B 991 BT
B. STHRGINT o479l & ¥ gahH adld § Heldd gidl g
C. UM ®IY B 57 AR AYfd & T2 GaHE [RR 91 8 30féE teas fRufa 8
D. faoua 34 fagid & ufauee H 4 TP 41
E. 39 o019 & (i d Hifes USl &1 Lo f6han)
i<l feu 1u fadedl & 4 981 SR g -
1. HaA A B AR D
2.0 C, D ARE

3. $dd B, D AR E
4. BaAA DARE

1)
(2)
(3)
(4)

A W N =

1[Option ID=28869] Question Description : dwbv_pg_eco_eng_2_q42
2[Option ID=28870]
3[Option ID=28871]
4[Option ID=28872]
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Which of the following are correct assumptions of Arrow's conditions of Social Welfare?
A. Responsiveness to individual preferences

B. Impositions

C. Dictatorship

D. Transitivity or consistency

E. Independent of irrelevant alternatives

Choose the correct answer from the options given below:

1. A B and D only
2.B, D and E only
3.B,Cand D only
4. A Dand E only

1)
(2)
(3)
(4)

A W N R

1o STl B AR (Arrows) TR T Teifea Faffed § 9 $19-41 Aftront wei & 2
A. dofaas sftaarstt & ufa sEfwaia
5. 37dgUs
C. Rl
D. TpTHGar S4aT GETd
E. IR [daedl ¥ W
i<l feu 1u fadedl & 4 981 SR g -
1. HaA A B AR D
2.%qdB, D AR E

3. HadB, C AR D
4. BaAA DARE

1)
(2)
(3)
(4)

A W N =

1[Option ID=28873] Question Description : dwbv_pg_eco_eng_2_q43
2[Option ID=28874]
3[Option ID=28875]
4[Option ID=28876]
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The consequences of a country having a persistent current account surplus include
A. Employment generation

B. Higher standard of living

C. Low inflation pressure

D. Currency appreciates in value

E. More pressure on public debt

Choose the correct answer from the options given below:

1.A B, Cand D only
2. A, Band D only
3.Aand E only

4. A, Dand Eonly

(1) 1
) 2
3) 3
(4) 4

Pt S & AAR Te T YRy & uRkomEt & it g &
A, ASTRYSH
B. 3= Sflgd &R
C. eIEhifd &1 & gald
D. 70 H FeH Waf aret J&
E. RPN &l B HUR 1G] Gale
i<l feu 1u fadedl & 4 981 SR g -
1.BaUA, B, C IR D
2.59d A, BARD

3. HaaA ARE
4. BaAA DARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28877] Question Description : dwbv_pg_eco_eng_2_q44
2[Option ID=28878]

3[Option ID=28879]
4[Option ID=28880]
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For the computation of National income by the product method, which of the following sectors are considered:
A. Registered manufacturing

B. Agricultural and allied activities

C. Mining and quarrying

D. Unregistered manufacturing

E. Non-monetised activities

Choose the correct answer from the options given below:

1. A B and C only
2.B and C only

3.A B, Cand D only
4.B, Cand D only

1)
(2)
(3)
(4)

A W N R

TG TS B AP 34 o1 0T FA @ g Fafaied e i (@eer) R fer fear s g
A. Uefiga fafmior
B. BV IR WeRI® TMafaiiai
C. G 3R IE-H
D. HUsiigd fafaf
£, TR faggiao miafafear
il feu e famel 5 4 9 SR A -
1.Ha A, B AR C
2. %8 B AR C

3. BAAA, B, C 3R D
4. ®ddB, C3ARD

1)
(2)
(3)
(4)

A W N =

1[Option ID=28881] Question Description : dwbv_pg_eco_eng_2_q45
2[Option ID=28882]
3[Option ID=28883]
4[Option ID=28884]

Sl. No.46
QBID:1046




Which of the following statements are correct?

A. According to the accelerator model, investment demand is proportional to the change in GDP.
B. The real rate of interest is the nominal rate of interest plus the inflation rate.

C. The higher the real interest rate, the higher is the rental cost of capital.

D. Investment is a stock concept.

E. Residential investment is low when mortgage interest rates are high.

Choose the correct answer from the options given below:

1.B, Cand D only
2. A, Cand E only
3. A Band E only
4.C, Dand E only

(1) 1
) 2
3) 3
(4) 4

fFafiad sy s A wgi g 2

A. R Afsdl & TER Fa9 $1 61 96d Wy Sdg ¢ 2 i) 7 uikad= 31 @ e 21
B. dRdIdc SUIS &, ST BI A HA &2 a4l JRRWild &1 37 gl g

C. IRla® odTe &3 fora-T 3ifid gl dsig ol ciiTd Ja-i1 S gRi|

D. 199 T% €& 3@IRUT |

E. 18 §us Ha9 &3 314 gidl & 9 Ay Haw &4 B 3|

i< feu U fadeal # 4 981 3w g -

1.®%ad B, C AR D
2. PaAA CHRE
3. BadA B ARE
4.%adC, D ARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28885] Question Description : dwbv_pg_eco_eng_2_q46
2[Option ID=28886]

3[Option ID=28887]
4[Option ID=28888]
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The properties of Mathematical Expectation are

A. E(C) = 0, where C is constant

B.If Xand Y are random variables, then E(X+Y) = E(X) +E(Y)

C. Var(X £ C) = Var(X), where C is constant

D. If Xand Y are independent random variables, then E(X ) = E(X).E(Y)
E. Var(aX) = a.Var(X), where a is constant

Choose the correct answer from the options given below:

1. A B and D only
2.B, D and E only
3.B,Cand D only
4.B, Cand E only

1)
(2)
(3)
(4)

A W N R

TR ardan i faRan ¢;
AEC) =0 B cRRIFE
B. 4fg X 3R v Uefasd R g dl
E(X+Y) = E(X) +E(Y)
C. Var(X + ) = Var(X); 981 ¢ RRI® §
D. TfE x 3R v WA Trefasd TR 8 al £ (XY) =E (X).E (Y)
E. Var(aX) = a.Var(X), 561 a U® f@RI® §
i< f&u U fadenl 5 9 921 3w g -
1.®ad A B3R D
2.%ad B, D 3R E

3. ®ad B, C AR D
4. HadAB, C ARE

1)
(2)
(3)
(4)

A W N R

1[Option ID=28889] Question Description : dwbv_pg_eco_eng_2_q47
2[Option ID=28890]
3[Option ID=28891]
4[Option ID=28892]
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Which of the following are correct are OLS estimation in the presence of autocorrelation?
A. The estimated coefficients are linear

B. The estimated coefficients are unbiased

C. The estimated coefficients are biased

D. The estimated coefficients are consistent

E. The estimated coefficients are efficient

Choose the correct answer from the options given below:

1. A Cand D only
2. A, Band D only
3.A CandE only
4.C, Dand E only

(1) 1
) 2
3) 3
(4) 4

WA Yeday B Hiee | 3l Ud UH $HH IH & o Fafdied 4 S @H-ar9d &
A. ST T TS () B
B. 3{HId Ul Jaiiedied & |
C. A1 T[UTi® Yaideded ol
D. SHIE T0T® R Bl
E. ITATIT U BriGH ol
i<l feu e fadeal & O 981 SR 9 -
1.HaA A, C 3R D
2.%ad A B3R D

3. HIAA, CIHRE
4.HaAC, DARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28893] Question Description : dwbv_pg_eco_eng_2_q48
2[Option ID=28894]

3[Option ID=28895]
4[Option ID=28896]
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Which of the following are correct in case of area under the standard normal probability curve.
A. Distance from the mean ordinates in terms of + g atZ = + 0.6745 is 0.55

B. Distance from the mean ordinates interms of £ cat Z = £ 1.96is 0.95

C. Distance from the mean ordinates interms of + gatZ = + 2.0 is 0.9544

D. Distance from the mean ordinates interms of + gatZ = + 2.58 is0.98

+

E. Distance from the mean ordinates in terms of £ catZ = + 3.0 is 0.9973
Choose the correct answer from the options given below:

1. A CandE only
2.B, C and E only
3.B,Cand D only
4. A, BandEonly

(1) 1
) 2
3) 3
(4) 4

HI® HH Sl 8% & fdvid &7 & HHd | FEiiiad 4 o 9wl B
A Z=:06745 T £ g & &0 4 A1 0EE F Gil 0.55 Blal &
B.Z=+ 196 R + g & ®U H A UHMH Y g1 0.95 Bl &
C.Z=+20W+odhEYHAHIUHHA Y gl 0.9544 Bldil &
D.Z=+ 258 W + g & U H A4 oM 4 G4 0.98 Bldil &
£Z=+30W +o®&YHALIOHEH YL 0.9973 Bl
i<l feu 1u fadedl & 4 981 SR g -
1.Had A, C ¥R E
2.%dq B, C ARE

3. HadB, C AR D
4. HaAA BARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28897] Question Description : dwbv_pg_eco_eng_2_q49
2[Option ID=28898]

3[Option ID=28899]
4[Option ID=28900]
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1)
(2)
(3)
(4)

1)
(2)
(3)
(4)

1.B, C and E only
2. A, B and E only
3.B, D and E only
4. A, Cand D only

A W N R

1.®%ad B, C AR E
2.PdAA BAHRE
3. %A B, D AR E
4. %ad A, C 3R D

A W N =

1[Option ID=28901]
2[Option ID=28902]
3[Option ID=28903]
4[Option ID=28904]

Which of the following satisfy the assumptions of the classical linear regression model?

A. The regression model is linear in the parameters

B. Zero mean value of disturbance U;

C. The variance of U; is not constant

D. There is a serial autocorrelation between the disturbance terms

E. The number of observations must be greater than the number of parameters to be estimated

Choose the correct answer from the options given below:

Frafifad & 9 S1H-91 oy T AIH e uirm disd & qaiEr! & 98 difad dial g
A. ufar Aisd, Wiiext # s ihe (Ei) gidi 8

B. Te%ed g u;, &1 Y A1 g

C. u; BT R AR 8T &

D. Gial & &1 Wa: YeuaY @ [ sidl 8

C T T T ST T S A A T S A

T e Tt 4 68 gt T

Question Description : dwbv_pg_eco_eng_2_q50
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If A, B and C are three different non-empty sets, then find which of the following are correct in laws of the set operation.
AAn@=0

BLAN(BUQ=(ANBUANC

CANA =0

DLBE-A=B"nA

E(AuB)=AUuB

Choose the correct answer from the options given below:

1.A B, Cand E only
2. A, Cand E only
3.A Cand D only
4. A Band Conly

1)
(2)
(3)
(4)

A W N R

g A 8 3R ¢ IH BF-i TR-Rad 9o @-wh) 9 € 91 9 ATREH & Fod (@ &6E § 9 omem) d Fofiafaa 5 9
DH-91 Tel gl

AANG =@

BAN(BUC) =(ANB)U(ANCQ

CANA =0

D.B-A=BnA

E(AUB) =A UB

i< f&u U fadeal 5 4 981 I g -
1.®ad A, B, C AR E
2.Bad A, CARE

3. ®WAAA, C3RD
4. BAdAA BARC

1)
(2)
(3)
(4)

A W N R

1[Option ID=28905] Question Description : dwbv_pg_eco_eng_2_q51
2[Option ID=28906]
3[Option ID=28907]
4[Option ID=28908]
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Which among the following are main components of PM e-Vidya:
A. One Nation, One Digital Education.

B. Infrastructure and Electronic Governance.

C. One Class, One T.V. Channel.

D. Extensive use of radio, Community radio and Podcasts.

E. Information and Communication Technology.

Choose the correct answer from the options given below:

1.A C DandEonly
2.A, B, Cand E only
3.B,C, D and E only
4. A B, DandE only

(1) 1
) 2
3) 3
(4) 4

fFafciad = € @1H-91 U 1 3 -39 &1 U3 HE 9ed &
A U@ Y TP fSea fea

B. HALRTHT R Soiae|Hd YRIEH
C. U ®&ll T 14l THa
D. Y41, TrgeId® &4l iR IaE! & s uan
E. o1 3R TR Uit
i< feu U fadeal # 4 981 3w g -
1.HaA A, C R D 3R E
2.Bad A, B, C AR E

3. ®dd B, C, D AR E
4. ®BdAA, B, DIARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28909] Question Description : dwbv_pg_eco_eng_2_q52
2[Option ID=28910]

3[Option ID=28911]
4[Option ID=28912]
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Which of the followings are the alternative estimates of poverty in India?
A. Dandekar and Rath Estimate

B. O.P Chopra Estimate

C. P. D. Ojha Estimate

D. B. 5. Minhas Estimate

E. D. K. Rangnekar Estimate

Choose the correct answer from the options given below:

1. A B and C only
2.B, C and E only
3.A Cand D only
4.C, Dand E only

(1) 1
) 2
3) 3
(4) 4

YR & FeHar &1 e T arell 9fafa o 9 g
A. BIS®HR 3R Y 3IAF afafd

B. 1. WA 3FHH TiHfd

C. Ul 31,3715 SrgHH wiAfd

D. 10U B8 A HiHfd

£, Sl TH® AT G

ey el H 4 U IR A -

1.BaATA, B AR C
2.%dd B, C HRE
3. Baa A, C HR D
4. %adC, D ARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28913] Question Description : dwbv_pg_eco_eng_2_q53
2[Option ID=28914]

3[Option ID=28915]
4[Option ID=28916]
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Which of the following objectives are correct for the Public Sector?
A. To create employment opportunities

B. To promote balanced regional growth

C. To promote agriculture growth

D. To promote rapid economic development

E. To promote the banking sector of the economy

Choose the correct answer from the option given below:

1. A B and D only
2.B, C and E only
3.C, Dand E only
4.4, B, C DandE

1)
(2)
(3)
(4)

FafaRad 5 9 @F 91 9idei-o &3 & 96l 3580 & 2

A. TSIR & TR BT Gord BT

B. Tferd &A1 b & Wi HAl

C. P [gmm &I Uredied &l

D. @A e [Gebry DI Uielligd Bl

E. rfouaeyT # SfehTT &7 DI Ul B

i< f&u 7 fadeal # 4 981 IR I -
1.HaA A B AR D
2.%hac B, C ARE

3. ®BIAC, D AR E
4.A B C D3RE

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=28917] Question Description : dwbv_pg_eco_eng_2_q54
2[Option ID=28918]
3[Option ID=28919]
4[Option ID=28920]
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Which of the following are required for a good tax system?

A. Revenue yield should be adequate.

B. Tax system should be so that different income groups of people pay tax equally.
C. Administrative and compliance cost of tax should be as minimum as possible.
D. Tax system should not permit scope for tax leakage and tax evasion.

E. Tax should be chosen to maximise interference with market efficiency.

Choose the correct answer from the options given below:

1. A and C only

2. A, Cand E only
3.A Cand D only
4.A B, Cand D only

1)
(2)
(3)
(4)

U 38! @ Uil & fore Ffeiad & 9 o saws ¢

A. TToRE Yidpa g g7 e |

B. = UUcH Ul g1 e fob fafird o THgi & TRl &I THH R B YIdH B3 U |
C. X &I YRS HR FUeH arTd JURIYE Aa4 gl el

A W N R

D. & OTe & &= g 3R & 3ud= &t I=e9 el a1 eyl
E. B 90 U1 B J116Y il SToIR G&fd1 & 1Y AP ar gxiay B
TRt e F Y aE IR

1. A A 3R C

2.Bad A, C AR E

3. BT A, C3RD
4. AT A, B, C AR D

1)
(2)
(3)
(4)

A W N R

1[Option ID=28921] Question Description : dwbv_pg_eco_eng_2_q55
2[Option ID=28922]
3[Option ID=28923]
4[Option ID=28924]
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Federal transfers to states are required mainly:

A. to offset unequal assignment of resources and responsibilities between Federal Government and State Government.
B. to correct spillovers of benefits of public goods between jurisdictions.

C. to address horizontal fiscal imbalances.

D. to augment resources of local bodies.

E. for overall efficiency of tax system.

Choose the correct answer from the options given below:

1. A B and C only
2. A, Cand D only
3.A B, Cand D only
4.4, B, C DandE

(1) 1
) 2
3) 3
(4) 4

A. I TRBR AR I B IWHR & 79 ! R FIRGIRI@! B HTHH Hae o Hiodded @3- adl
B. UICIdI3 & T Yraw—d a3 & 1Hl &1 Tel HTIEIE (TR &3 8

C. YHERIY IS U el R 91 64 od|
D. ®IFY &gl § Heiftd deiedl 7 afs de 8d|
£, TR-0aT B U Q& ol
i< feu U faseal § 4 981 IR I -
1.HaAA, B 3R C
2.%Bad A CHRD

3. BATA, B, C 3R D
4.A B C D3RE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28925] Question Description : dwbv_pg_eco_eng_2_q56
2[Option ID=28926]

3[Option ID=28927]
4[Option ID=28928]
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Which of the following are expansionary monetary policy measures to cure deflation?
A. The Central bank buys government securities from commercial banks and public.
B. The Central bank may hike the bank rate.

C. The Central bank may increase the cash reserve ratio.

D. The Central bank may reduce the cash reserve ratio.

E. The Central bank may lower the bank rate.

Choose the correct answer from the options given below:

1. A B and D only
2. A, Cand E only
3.B and C only

4. A Dand E only

(1) 1
) 2
3) 3
(4) 4

Haepifd B g2 B & fore FgfafEaa § 9 o O ywofia 9 i 8
A BT §F qIF® d@! AR a1 & WeER! ufayfaal @ded 21

B. 1] e - Bl 91 Udbdll ol

C. 51§ dde AR Ul ®! g6l ¥aal o

D. B514 §b Fbe HRIE U DI 2T Tabvell 8

E. P51g §b db-c3 B Ul bl o

13 o T e 3 4 T8 SR

1. WA A, B 3R D
2. PaAA CHRE
3. Haa B AR C

4. Had A DIARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28929] Question Description : dwbv_pg_eco_eng_2_q57
2[Option ID=28930]

3[Option ID=28931]
4[Option ID=28932]
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The main features of Treasury bills are that:

A. they are issued at a discount and are repaid at par on maturity.
B. they have low liquidity on account of their short tenure.

C. there is no default risk.

D. they offer an assured yield.

E. they have a high transaction cost.

Choose the correct answer from the options given below:

1. A B and C only
2. A, Cand D only
3.A Dand E only
4. A CandEonly

1)
(2)
(3)
(4)

A W N R

DY UH (ol f9eH) B Jd [Gud & -
A. 3% 8¢ R ORI {501 911 & IR URUSdl W SH®1 99 50 IR G 6ar oirdr §
B. S{eUdiY & HRUT -5 cReidl
C. 9 Gati Sifew el giat 21
D. Hi&4d ufamd
E. 3= YoUdgR Al
i<l feu 1u fadedl & 4 981 SR g -
1.Ha A, B AR C
2. 590 A CHRD

3. HddA DIRE
4. HAAA, CHRE

1)
(2)
(3)
(4)

A W N =

1[Option ID=28933] Question Description : dwbv_pg_eco_eng_2_q58
2[Option ID=28934]
3[Option ID=28935]
4[Option ID=28936]
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Which of the following are correct in case of probability of two independent events A and B?
A P(AJE) = P(A)
B. P(A/B) = P(B)

C. P (ANB) = P (A). P (B)

Choose the correct answer from the options given below:

1.B, C and E only
2. A, Cand D only
3.B,Cand D only
4. A CandEonly

(1) 1
) 2
3) 3
(4) 4

frafafad 3 9 &1 <1 Wdd g3l A 3R 8 & yHyemar & dcd 3 981 2
AP (A/B) = P(A)
B. P (A/B) = P(B)

C.P (ANB) = P (A). P (B)

o feu U fadeal H U Uel IR 94 -
1. %908, CAR E
2.HAAA, C3HR D

3. HadB, C AR D
4. HAAA, CHRE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28937] Question Description : dwbv_pg_eco_eng_2_q59
2[Option ID=28938]

3[Option ID=28939]
4[Option ID=28940]
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Harrod-Domar classification of growth includes, which of the following?
A. Matural growth rate

B. Desired growth rate

C. Warranted growth rate

D. Possible growth rate

E. Population growth rate

Choose the correct answer from the options given below:

1. A and B only

2. A and C only
3.A B, Cand E only
4.B, Cand D only

(1) 1
) 2
3) 3
(4) 4

&I - SR Uy Aigd Y & --

A WHIES 3ig &

B. gifesd ghg &X

. gaidd gfg &x

D. HYTO 3fg &

E. S 9 &

il feu e famel 5 4 9 SR A -
1. 590 A AR B
2. BadA AR C

3. BIAA, B, CIRE
4. ®ddB, C3ARD

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28941] Question Description : dwbv_pg_eco_eng_2_q60
2[Option ID=28942]

3[Option ID=28943]
4[Option ID=28944]
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Which of the following are true for an oligopolistic market?
A. The demand curve of oligopolistic market is indeterminate.
B. There is a possibility of only two sellers.

C. The product may be homogenous or differentiated.

D. There is free entry into and free exit out of the market.

E. There is an importance of advertisment cost.

Choose the correct answer from the options given below:

1.A B, Cand D only
2.B, Cand D only

3.A B, Cand E only
4.B,C, D and E only

(1) 1
) 2
3) 3
4) 4

HEUUHR F6IR & GeH J FaifEd ¥ e a wdi g 7
A. TSR STSR B H1T 956 300 BT 5|
B. 304 &l facharefl @1 Ud TU1a-1 &l Udhdl ¢
c. 399 Idg gu a1 [Jufed siar 8l
D. 39 §I9IR H ad WA 91 T gl 61
£ 9% SI9R 0 W &1 7o oIl o
He R el H A T S
1. @4 A, B, C 3R D
2.%9d B, C AR D

3. BIAA, B, CIRE
4. ®ddB, C,D3MRE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28945] Question Description : dwbv_pg_eco_eng_2_q61
2[Option ID=28946]

3[Option ID=28947]
4[Option ID=28948]
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Which of the following trends conform to the population projections for India based on the Census of India 2011, as carried
out by the Technical Group on Population Projections under the aegis of National Commission on Population.

A. The infant mortality rate is expected to decline in all states during 2011-2035.

B. The average age of Indians is expected to be higher in 2036 compared to 2011.

C. The crude birth rate is expected to increase due to increasing level of total fertility.

D. The crude death rate is expected to decrease owing to the changing age structure of the population.

E. As per the projected sex ratio, the population in 2036 is expected to be more feminine compared to the population
in 2011.

Choose the correct answer from the options given below:

1. A B and C only
2. A, BandEonly
3. A, Dand E only
4.B, C and E only

1)
(2)
(3)
(4)

A W N B

fFrafeiad 3 9 S1F U T2 AP S SN & Ty H S8 A a6 aob-ie! 9Hg TR1 HRA 31 2011 B
TRIUFT & HIHR U [T 1T S8 Ml & S8 § -

A 2011 ¥ 2035 & G G Tl H e 99 &) | fR1ae o &1 sEH |
B. Il 1 3i19d 31 2011 B! o1 H 2036 H AE® 8- @1 ATHH &
C. P o &2 H g & DR =TT 59 & H 9ig gH &1 A B

D. ST B 9Gadl HIG-WTHT b BRUT HAMT T4 &2 H DA gl I HIHH ¢

E. AT AU & 39K 2011 &1 S9E &1 Ja1 & 2036 &1 S8 & g &1 (i 3 ud eF &1 9H &l
o fEu U fodheal 4 9 98 S g -

1.HAT A, B AR C

2.%ddA BIAHRE

3. HadA D IRE
4.Had B, C ARE

1)
(2)
(3)
(4)

A W N R

1[Option ID=28949] Question Description : dwbv_pg_eco_eng_2_q62
2[Option ID=28950]
3[Option ID=28951]
4[Option ID=28952]
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Consider a competitive polluting industry with identical firms and free entry. If the regulator sets an emission cap for each
firm equal to the socially optimal long run level per firm, which of the following will characterize the long run impact of such
an environmental policy on this competitive industry?

A. The industry size will be larger than the social optimum.

B. The output produced by each firm will be less than socially optimal.
C. The industry size will be smaller than the social optimum.

D. The output produced by each firm will be larger than socially optimal.
E. Total output and total pollution are greater than the social optimum.
Choose the correct answer from the options given below:

1.A D and E only
2.B, Cand E only
3.C,Dand E only
4. A, B and E only

1)
(2)
(3)
(4)

A W N B

T T, HguuT Hha are U wiasad 39 o Ty B § 9IR Oad 09T 5| afe fafame vl B & [y 3o @
iy fRefid @2 ¢ar & of Ufd B IEo® 0 9 3Pad arhary @ & el g, df 39 Hiaegsf ST W U maien Hifd &
Fafafad 4 9 o d didaiies uyE et

A, I BT SR GHINE U I P HHR 91 8T

B. U@ BH &1 3dIG- GHIei® ¥ ¥ SPad 3die- 4 &4 gl

C. SR & HBR e U ° 3Pad HHR § Siel sl
D. U@ HH &I JdIe- GHEeid &4 U 3Pad Idme- 4 e g
E. T9 16 AR Hl HGuY GHI® €U ¥ SFAH TR § 1S gl
i< f&U 70 fadedl § 9 98 S I -

1. ®ad A D3R E

2.%aq B, C HRE

3. HaqC, DIARE
4.FHaAA, BARE

1)
(2)
(3)
(4)

A W N R

1[Option ID=28953] Question Description : dwbv_pg_eco_eng_2_q63
2[Option ID=28954]
3[Option ID=28955]
4[Option ID=28956]
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Which of the following are the members of SAARC countries?
A. India

B. Pakistan

C. Sri Lanka

D. Afghanistan

E. China

Choose the correct answer from the options given below:

1. A CandE only
2.B, C and E only
3.A Dand E only
4.A B, Cand D only

1)
(2)
(3)
(4)

FaftiEd 9 P 9 C0 9 & Hel &7

A HRA

B. &I

C. Hicict

D. GBI

E.dH

i<l feu e fadeal & O 981 SR 9 -
1.Had A, C 3R E
2.%hac B, C ARE

3. HIAA, DARE
4. ®BdAA, B, C AR D

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=28957] Question Description : dwbv_pg_eco_eng_2_q64
2[Option ID=28958]
3[Option ID=28959]
4[Option ID=28960]
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Which of the following forms the credit side of the Balance of Payments?
A. Unilateral transfer recieved

B. Capital transfer recieved

C. Income Payments (Import of factor services)

D. Exports of factor services

E. Merchandise imports

Choose the correct answer from the options given below:

1. A B and E only
2.B, Cand D only
3.A Cand D only
4. A, Band D only

(1) 1
) 2
3) 3
4) 4

YIdH dqeH H FEfciRad 5 ¥ 1 sl ug & sfavld #id 82
A. TPHUETT 3fcR0T Wit

B. ol 3fcRor e

C. 319 IdH (GRS Ydlell D 3{0)

D. HRe Harsfl &I Fafd

E. UUT 3R

il feu e faseul 5 9 98l I g -

1.Bad A, B AR E
2.%dd B, C AR D
3. Baa A, C HR D
4. Had A BARD

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28961] Question Description : dwbv_pg_eco_eng_2_q65
2[Option ID=28962]

3[Option ID=28963]
4[Option ID=28964]
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Match List | with List 11

List | List Il

A. Extra risk that an investor must incur to enjoy a higher expected return. . Risky Asset

B. Tendency of individuals to value an item more when they own it than when they do not. Il. Moral Hazard
C. Provides an uncertain flow of money or services to its owner. [1l. Price of Risk
D. When a party whose actions are unobserved can affect the probability of payment associated with |IV. Endowment
an event. effect

Choose the correct answer from the options given below:

TA-LBE-IV,C-1I,D-I
2ZA-NLB-IV,C-1,D-1
A-ILB-IV,C-1,D-1
4AA-LB-ILC-1,D-1V

(1) 1
(2) 2
(3) 3
(4) 4

Tt -1 B gt -1 o gEfed S

gl -l -1l
A. F92I® RT3 Widwd W @3- g I8/ oH arnr |1, REbl
SR sifeq 3T

B. Adad! R S{UH U A i dTcil a&g @1 ol H, U H |11, AR
g arelt avg & ged o ifaw i oen @1 gy EELS

C. 30 WH &I ¢4 3ual garedi @ FEa ueR uea I Wsg
casll HIE =
D. i fdh il U&l & B1al UR & g 1631 9rdl § df 98 .
%&ﬂm%maﬂaﬁﬂwaﬂuﬁmﬁmﬁﬂaﬂ“{'

gl g P

d feu e fadeal # 4 Ugl 3R gHU :

TA-LB-IV,C-NIL,D-1
ZA-NLEB-IV,C-1,D-1
.A-ILB-IV,C-1,D-1
4AA-LB-1ILC-U,D-1V

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28965] Question Description : dwbv_pg_eco_eng_2_q66
2[Option ID=28966]

3[Option ID=28967]
4[Option ID=28968]
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Match List | with List 11

List | List Il

A, A.W. Phillips |I. Trade off between wage and unemployment

B. Findley Shiraz |Il. Money illusion

C. Modigliani  |lll. Life cycle hypothesis

D. Pigou IV. Taxable capacity

1)
(2)
(3)
(4)

A W N R

Choose the correct answer from the options given below:

TA-ILE-1LC-U,D-1V
2ZA-LB-IV.C-IIILD-1
A-LEB-ILC-N,D-1V
4AA-NLB-IV,C-1,D-1

Tt -1 B gt -1 o gafed S

1)
(2)
(3)
(4)

A W N =

1[Option ID=28969]
2[Option ID=28970]
3[Option ID=28971]
4[Option ID=28972]

gl -l T -1

A. T S fhicm |. Hoigdl Ud sRIGHIRI & He o dai

8. fihsd R I & ¥H

C. ATt |11, ST deh Wb e

D. firg V. DY &HAT (BGH)

o feu e fadeal # 9§ Ugl 3T gHU :
TA-IL,B-1,C-1I,D-1V

ZA-LB-IV.C-IILD-1
3.A-LEB-1L,C-1
4AA-NLB-IV,C-1,D-1

D-1IV

Question Description : dwbv_pg_eco_eng_2_q67
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Match List | with List 11

List | List 11

A. Censored regression Model |I. Probit Model
B. Normit Model IIl. Marc Nerlove
C. Distributed-lags Model lIl. Tobit Model

D. Partial adjustment Model  [IV. L. M. Koyck

Choose the correct answer from the options given below:

TA-LE-NIILC-1,D-1V
2ZA-NILB-1L,C-IV,D-1
3A-ILB-IV,C-1,D-1
4A-IV,B-ILC-1,D-1

1)
(2)
(3)
(4)

Tt -1 BT gt -1 W gafed S

A W N R

gl -l -l

A, TS fEeE aisd . Hifee Oisa

8. ANHe Alsd I1. {1 -Xea
c.fe¥Isges - o Hisa 1. gifde alsd
D. UIRIgd UseieeHe Alsd V. TEL.EH. DS
d feu e fadeal # O Ugl 3R gHU :

TA-LB-N,C-ILD-1V
ZA-NILB-1L,C-IV,D-1
.A-ILB-IV,C-1,D-1
4A-IV,B-1LC-1,D-1

1)
(2)
(3)
(4)

A W N B

1[Option ID=28973] Question Description : dwbv_pg_eco_eng_2_q68
2[Option ID=28974]
3[Option ID=28975]
4[Option ID=28976]
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Match List | with List 11

List | List Il
Two-Variable Linear Regression Model [Elasticity
A Y = By + Bax . BaX
B.InY =Py + B2X 1. Bz

C.Y =By + Baln X 1L B (X/Y)
D.InY =By + Paln X V. B2(1/Y)

Choose the correct answer from the options given below:

T.A-ILB-IV,C-1,D-1
2ZA-NLB-1L,C-IV,D-1
A-ILB-1L,C-IL,D-1V
4A-1LB-N,C-1V,D-1

1)
(2)
(3)
(4)

Tt -1 B gt -1 o gEfed S

A W N R

gl -l gl -l

fg=) Y@y ufame- gisd O] (@ ard)
ALY = By + BoX 1. BaX

B.InY =Py + B2X . Bz

C.Y =By + Paln X L. Ba (X/Y)

D.InY =By + Paln X V. B2(1/Y)

o fGu U fadeat o © U8l SR gHU

T.A-ILB-IV,C-1,D-1
2ZA-NILB-1L,C-IV,D-1
A-ILB-1L,C-N,D-1V
AA-1LB-N,C-1V,D-1I

1)
(2)
(3)
(4)

A W N R

1[Option ID=28977] Question Description : dwbv_pg_eco_eng_2_q69
2[Option ID=28978]
3[Option ID=28979]
4[Option ID=28980]
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Match List | with List 11

List |

List 1l

A. GATS, Mode - 1|I. Cross-border trade

B. GATS, Mode -2 (IIl. Commercial presence

C. GATS, Mode -3 |lll. Temporary movement of natural persons

D. GATS, Mode -4 (IV. Consumption abroad

Choose the correct answer from the options given below:

1)
(2)
(3)
(4)

TA-LE-IV,C-1I,D-
2ZA-LB-IV.C-1I,D-1I
3A-LEB-ILC-IV,D-1
4 A-LB-1LC-U,D-IV

A W N R

Tt -1 BT gt -1 W gafed S

gl -l T -l

A TE-T18 - 1 |. THI-UR AMUR

B. flc-AS -2 I1. arfrfoge Jufdfa @ o)
C. le-HdIg-3 III. deR Tfad BT ST T4
D. Te-HIS-4 v. fae= o guam

d feu e fadeal # O Ugl 3R gHU :

1)
(2)
(3)
(4)

1[Option ID=28981]
2[Option ID=28982]
3[Option ID=28983]
4[Option ID=28984]

TA-LB-IV,C-NIL,D-1
2ZA-LB-IV.C-1,D-1I
.A-LE-ILC-IV,D-1I
4AA-LB-1LC-U,D-1V

A W N =

Sl. No.71

QBID

11071

Question Description : dwbv_pg_eco_eng_2_q70




Match List | with List 11

List | List 11

A. Functional Finance l. Peacock and Wiseman

B. Displacement effect Il. Keynes and Learner

C. Law of increasing state activity . Wagner

D. Allocative, stabilization and distributive function of state |IV. Musgrave

Choose the correct answer from the options given below:

TA-ILE-1LC-U,D-1V
2ZA-IV,B-1LC-1IILD-1
LA-ILB-IIL,C-1L,D-1V
4AA-LB-1ILC-IV,.D-1I

(1)1
(2) 2
(3) 3
(4) 4

Tt -1 BT gt -1 W gafed S

gl -l g -1l

A Ufh OIS fad | fidid 3R argeaq
8. fG=Tg gvE Il B AR T

c. giseiia Rufq-mfagiia & faq Il AR

D. o4 @1 fafaeH, RiE ok faawu uar |iv. 79a

d feu e fadeal # O Ugl 3R gHU :

TA-ILB-LC-U,D-1IV
ZA-IV,B-1LC-1ILD-1
A-ILBE-IILC-1L,D-1V
4AA-LB-ILC-IV,D-1I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28985] Question Description : dwbv_pg_eco_eng_2_q71
2[Option ID=28986]

3[Option ID=28987]
4[Option ID=28988]
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Match List | with List 11

List | List 11
A. The establishment of a clearing house for settlement of transactions in BSE.|l. 1994
B. Serial bomb blasts in BSE. II. 1997
C. Screen-based trading commenced in BSE. 1. 1921
D. BSE launched the first stock index with 30 scrips. IV. 1986

Choose the correct answer from the options given below:

TA-LE-NIILC-1,D-1V
2ZA-NLB-1,C-1V,D-1
3A-ILB-LC-1L,D-1V
4 A-1LB-1,C-U,D-IV

1) 1

(2) 2

3) 3

4) 4

Tt -1 BT Gt -1 T Gaferd BIfg

gl -l T -1l
A 91 TH 3 ¥ gU YoHagRl & MUeR gq YHRIeE T8 $I 100s
RO '

B. & T 3 H WiRTd 99 &R &1 9o II. 1997
C.dl T 3 H BhH YR AUR $I LS 11l 1921
D. ST U9 § ¥ 30 TRI dIcl HUH €D Yadid Bl URH IV. 1986
o feu e fadeal # 9§ §gl 3T gHU :

TA-LE-NIILC-1,D-1V
2ZA-NLB-1,C-1V,D-1
3.A-ILB-LC-1L,D-1V
4A-1LB-1,C-U,D-IV

1)
(2)
(3)
(4)

A W N R

1[Option ID=28989] Question Description : dwbv_pg_eco_eng_2_q72
2[Option ID=28990]
3[Option ID=28991]
4[Option ID=28992]
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Match List | with List 11

List | List Il

A. SCP approach I. James Buchanan

B. Transaction cost theory |Il. New classical theory

C. Public choice theory  |lll. H. H. Index

D. Industrial connection |IV. Williamson

Choose the correct answer from the options given below:

TA-ILE-IV,C-1,D-1
ZA-NLB-IV,C-1I,D-1
3A-LB-NILC-IV,D-1
4A-IV,B-1,C-1,D-1

1) 1
(2) 2
3) 3
(4) 4

Tl -1 B gt -1l ¥ gAfd Biforg -

g1 -| -l

A TG Ui JurH I. SR A

B. YodeR ord f&Eid II. 79 WIS fHgrd
C. UHfEd 904 g II1. U404, Yadid

D. I Yaed v. faferamg=

i feu e fadpeal # O Ugl 3R gHU :

TA-ILB-IV,C-1,D-1
2ZA-NLE-IV,C-1,D-1
A-LE-NIILC-IV,D-1
4A-IV,B-1,C-1,D-1I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28993] Question Description : dwbv_pg_eco_eng_2_q73
2[Option ID=28994]

3[Option ID=28995]
4[Option ID=28996]
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Match List | with List 11

List | List 1l

Conference of the Parties (COP) - UNFCCC Location

A, COP-15 l. Bali, Indonesia

B. COP-21 II. Sharm el-Sheikh, Egypt
C. COP-13 lll. Copenhagen, Denmark
D. COP-27 V. Paris, France

Choose the correct answer from the options given below:

1)
(2)
(3)
(4)

Tl -1 B gt -1l | gHferd s -

TA-W,B-LC-I1I,D-1
2ZA-NLB-IV,C-1,D-1
A-ILB-LC-1I,D-1IV
4.4-V,B-NILC-1,D-1

A W N R

Tl -l -1l
FHHY 3B Tiels (COP) - UNFCCC AR =M)
A. COP-15 1. ST, SUSHEE
B. COP-21 I1. TH- -2 -
C.COP-13 III. BIUETH, ST
D. COP-27 Iv. U, 151G
< feu e fadent o 9 981 I 9T
1T.A-IV,B-1,C-1I,D-1Il
2.A-NLB-IV,C-1,D-Il
3.A-NLB-1,C-1,D-1IV
4. A-IV,B-1I,C-1,D-Il
11
(2) 2
(3) 3
4) 4

1[Option ID=28997]

2[Option ID=28998]
3[Option ID=28999]
4[Option ID=29000]

Question Description : dwbv_pg_eco_eng_2_q74
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Match List | with List 11

List | List Il

A. Santa Cruz l. West Bengal

B. Kandla Il. Andhra Pradesh
C. Falta lll. Gujarat

D. Vishakhapatnam |IV. Maharashtra

Choose the correct answer from the options given below:

TA-LE-ILC-IV,D-1
2ZA-IV,B-ILC-1,D-1
3A-ILB-IV,C-1LD-1
4 A-NLB-1,C-1I,D-IV

(1)1
(2) 2
(3) 3
(4) 4

Tt -1 BT gt -1 W gafed S

gl -l -1l

A Hidihal I. UigH §E
8. Hisal 11, 3t TSR
C. Bleel 111, TR
D. fa=mamz- V. HERTY
i feu e fadeal # O Ugl 3R gHU :

TA-LB-ILC-1V,D-1I
ZA-IV,B-ILC-1,D-1
3.A-ILE-IV,C-1ILD -1
4AA-N,B-1,C-1,D-1V

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29001] Question Description : dwbv_pg_eco_eng_2_q75
2[Option ID=29002]

3[Option ID=29003]
4[Option ID=29004]
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Arrange the percentage share of nominal GVA(RE), 2019-20 for the following sectors in descending order
A. Agriculture and Allied

B. Manufacturing

C. Construction

D. Finance, Real estate and Professional services

E. Mining and Quarrying

Choose the correct answer from the options given below:

1.0, A B CE
2.ADBCE
3.0,B A CE
4B, A D EC

(1) 1
() 2
3) 3
4) 4
a¥ 2019-20 & FUfARad &6 & o 999 9%d 0o 3fE (3R 5) & Ufaed B & Aaiel $4 8 aiyd sifau
A. BT Ud Has &
B. fafamfor
c. fagior
D. f&T, Tud 3%de iR weaias dan
E. G R WeH-HHBR & DY (HI)
o feu U fadeal H U Uel IR 94 -
1.D,A B CE
2.A D,B, CE

3.D,B,A CE
4B, A D EC

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29005] Question Description : dwbv_pg_eco_eng_2_q76
2[Option ID=29006]

3[Option ID=29007]
4[Option ID=29008]
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Arrange the books in ascending order based on their year of publication
A. An Inquiry Into the Nature and Causes of Wealth of Nations

B. The Theory of Moral Sentiments

C. Capitalism, Socialism and Democracy

D. The Great Transformation: The Political and Economic Origin of Our Time
E. The Affluent Society

Choose the correct answer from the options given below:

1.B,C,D,E A
2.BACDE
3.0,EABC
4. A CEBD

1)
(2)
(3)
(4)

A W N R

FrfcRad q&ae! & 3 U1 & 94 & HUR HRIE! 554 H THaRYd Bifeg
A T TR 3¢ € o UUS Dl 31 3y 3 474
B. G W {16 ARA YeHeH
C. Pftefoes, g tos SHimd!
D. § U¢ TIBIHIM ; § Ulftiic®dd TS SOMIH® SR I HER eBH
E. G UUQIU= Wit
i<l feu 1u fadedl & 4 981 SR g -
1.B,.C.D,EA
2.B,A,CD,E

3.D,E A B C
4.A CEBD

1)
(2)
(3)
(4)

A W N =

1[Option ID=29009] Question Description : dwbv_pg_eco_eng_2_q77
2[Option ID=29010]
3[Option ID=29011]
4[Option ID=29012]
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Arrange the following in descending order on the basis of the year of WTO Ministerial Conferences held.
A. Cancun, Mexico Conference.

B. Nairobi, Kenya Conference.

C. Bali, Indonesia Conference.

D. Buenos Aires, Argentina Conference.

E. Seattle, United States Conference.

Choose the correct answer from the options given below:

1.ACDBE
2.D, B CAE
3.BCAED
4. E A CBD

1) 1
(2) 2
(3) 3
(4) 4

frafaag wro AR T8 & 396 94 & YR | 3¢ ARiel 79 § Taid Hifeg -
A. BHDA, HiTTH! G
B. RIS, =T G

C. FIeH, SR gEad
D. T4 HITH, SIS FHT
e. Fged, ¥gea 1T (G1Res ®e) HTH
i< feu U faseal § 4 981 IR I -
1.A,CDBE
2.D,B,C AE

3.BCAED
4. EACBD

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29013] Question Description : dwbv_pg_eco_eng_2_q78
2[Option ID=29014]

3[Option ID=29015]
4[Option ID=29016]
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Arrange the following stages of the Budget in the correct sequence.
A. Appropriation Bill.

B. General Discussion.

C. Finance Bill.

D. Presentation to the Legislative Assembly.

E. Voting on the Demand for Grants.

Choose the correct answer from the options given below:

1.B,CEAD
2.AB ECD
3.0,ACBE
4.D,B A CE

1)
(2)
(3)
(4)

goie & FEfeRad TRUll @I 3 Hel S H Faid difod|
A. fafra fadaes |
B. T 741

c. fad dgs
D. faenfiesT H wegd fosar S

A W N R

E. 0@ AN 0 AdaH|

i feu e fadheal # U Ugl IR 94 :
1.B,C,EAD
2.A,B,ECD

3.0,A, CBE
4.D,B A CE

1)
(2)
(3)
(4)

A W N R

1[Option ID=29017] Question Description : dwbv_pg_eco_eng_2_q79
2[Option ID=29018]
3[Option ID=29019]
4[Option ID=29020]
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Indicate the chronological sequence of the following in terms of their implementation in India.
A, Service Tax

B. Expenditure Tax

C. State VAT

D. Income Tax

E. Goods and Services Tax (GST)

Choose the correct answer from the options given below:

1.B,D,C A E
2.D, B CAE
3.0,BACE
4B, A D CE

(1) 1
) 2
3) 3
(4) 4

YR & He H FEfdiad S $1 319 fpaiad (Yeed) U - & 96l 354 ®1 371d By
A, HaT B
B. O @Y
C.Tg-de
D. 319 &
E. 101 Ud TaT & (ol T8 &)
i<l feu 1u fadedl & 4 981 SR g -
1.B,D,C AE
2.D,B,C AE

3.D,B,A CE
4B, A D CE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29021] Question Description : dwbv_pg_eco_eng_2_q80
2[Option ID=29022]

3[Option ID=29023]
4[Option ID=29024]
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According to the CMIE data (September, 2022) arrange the states in ascending order based on their unemployment rate.
A. Madhya Pradesh

B. Gujarat

C. Chhattisgarh

D. Assam

E. Uttarakhand

Choose the correct answer from the options given below:

1.D,B.ACE
2.CDEAB
3.C,BDEA
4. A B CDE

1)
(2)
(3)
(4)

v o 5 s (R 2022) & SHR SRR &3 & AR UR HRfad Il @I SaRie HH H sgafeyd Sife|
A T TG

B. oI

C. FUITHTG

A W N R

D. 318H

E. 3REs

i feu e fadheal # U Ugl IR 94 :
1.D,B A CE
2.C,DEAB

3.CBDEA
4.4 B CDE

1)
(2)
(3)
(4)

A W N R

1[Option ID=29025] Question Description : dwbv_pg_eco_eng_2_q81
2[Option ID=29026]
3[Option ID=29027]
4[Option ID=29028]
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Arrange the rates in descending order based on 'Reserve Bank of India’ data, December 2022.
A. Cash Reserve Ratio

B. Repo rate

C. Bank rate

D. Reverse Repo rate

E. Standing Deposit Facility rate

Choose the correct answer from the options given below:

1.A B CDE
2.ECDBA
3.C,BEAD
4. A B D EC

1)
(2)
(3)
(4)

A W N R

fETmaR 2022 B, YR oid 9@ & fids! & YR R Fiftrd o3f & AaRie] $H H oaaieyd Hife|
A. THE ARIET U
B. U &%
C.db &
D.fEg W =
£, R ST giaun &R (RS fSuiee Bl )
il feu e famel 5 4 9 SR A -
1.A,B,C D.E
2.ECD,BA

3.CBEAD
4.4 B D EC

1)
(2)
(3)
(4)

A W N =

1[Option ID=29029] Question Description : dwbv_pg_eco_eng_2_q82
2[Option ID=29030]
3[Option ID=29031]
4[Option ID=29032]

Sl. No.83
QBID:1083




Arrange the followings chronologically in order of their introduction.
A. Ad hoc Treasury bills (T-bills)

B. 28 Days T-bills

C. 14 Days T-bills

D. 364 Days T-bills

E. 182 Days T - bills

Choose the correct answer from the options given below:

1.ADEBC
2Z.AEDCEB
3.0,EABC
4. EACDEB

1)
(2)
(3)
(4)

A W N R

FAfREd @I 3 FHRY BT WH & 8 B BIasHER 67 4 aid Sifod|
A. 7Y (TsEl®) gord fa (@-fam)

8. 28-fgadig di-faq

c. 14-fegdm di-fag

D. 364-feadig &1-faq

E. 182-feadim &-fag

i< feu U fadeal # 4 981 3w g -

1.ADEEBC
2ZAEDCE
3.D,E A B C
4. EACDB

1)
(2)
(3)
(4)

A W N =

1[Option ID=29033] Question Description : dwbv_pg_eco_eng_2_q83
2[Option ID=29034]
3[Option ID=29035]
4[Option ID=29036]
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Arrange the following in chronological order starting from the oldest relating to the theory of money.

A. Patinkin

B. Fisher

C. Friedman
D. Marshall
E. Keynes

Choose the correct answer from the options given below:

1T.EBCAD
2.B,D,EAC
3.A.B,CDE
4.D,B A CE

1)
(2)
(3)
(4)

URIHaH ¥ URH &3d gU FRfdiad Hifsd fHsia 9=id ©f SrasardeR ¢f d aRyd Sifeg
A, T
B. fihER
C. BIssHA
D. HIEfd
E. B
e fey e famel 5 9 9 IR A -
1.EBCAD
2.B,D,EAC

3.ABCDE
4.D,B A CE

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=29037] Question Description : dwbv_pg_eco_eng_2_q84
2[Option ID=29038]
3[Option ID=29039]
4[Option ID=29040]
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Arrange the trading groups as per their year of establishment starting from the oldest
A. European Free Trade Association

B. North American Free Trade Agreement

C. Asia Pacific Economic Cooperation

D. Andean Community

E. Association of South-East Asian Nations

Choose the correct answer from the options given below:

1T.AEDBC
2.ADEBC
3.AEDCB
4B, C D EA

1)
(2)
(3)
(4)

Fafeiad AuRE gl & UHiHaH 8 WRH BXd gU 3-d WIUH1-aY & S8R Hafed il
A. QRITT Had oATUR §Y
B. 3T AT Tad TUR FHaT
C. ufzran g e gganT
D. #UsT4 T (FHaM)
E. TI&M0T-gd gimTs p-uy
i<l feu e fadeal & O 981 SR 9 -
1.AEDBC
2.ADEBC

3.AED CB
4.B,C, D EA

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=29041] Question Description : dwbv_pg_eco_eng_2_q85
2[Option ID=29042]
3[Option ID=29043]
4[Option ID=29044]
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Given below are two statements:

Statement |: Every point on the Contract curve is Pareto efficient because one person could not be made better off without
making someone else worse off.

Statement II: Every point on the Contract curve neccessarily indicates equal level of economic welfare for the society.
In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

1)
(2)
(3)
(4)

A W N =

IR TR A =

DY - | : Tidg] ah WR YD fa-g ULel a&l sial ¢ aii (! ofdd &l JouH UgdlY fa- it 34 oafdd &l BrIal Tel
Ug T o Hehdl ¢
HY - 11 : BidEl 9 W U0 a9 9919 & e e Heam & 90 TR &1 AFarid: xid 8|
SUddd Byl & Heis § FafaRed et § 9 98l w9 -
1. @Y | 3R 11 gHI T €
2. @Y | AR 11 G TEd & |
3. WY1 9 8, g & 11 TTea B
4. YA | 39d &, foog T 1 T8l Bl

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=29045] Question Description : dwbv_pg_eco_eng_2_q86
2[Option ID=29046]
3[Option ID=29047]
4[Option ID=29048]
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Given below are two statements:

Statement I: A rising ratio of interest payments to GNP imposes a burden because taxation is needed to finance the interest
payment and imposes a dead weight loss.

Statement II: A rising rate of interest payment in the budget tends to crowd out other public programs.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

1 1
) 2




(3) 3
(4) 4

HY - | SIS YTTH 3R e AP I 1 gl SJUTd 15l Pl SgIal & Fdii o416 YT P [l & &0 HIeME
HTITIE T 1N & IR T Pl HR 1 et 2

DY - || : g H 19 YFTdH DI 9gdl 62 34 HIda-d drHH IR g®R] UHId STl o
I Byl &b Heis J FafaRad el H 9 98 Fa g -

1. @Y | AR 11 GF Tel 8

2. %Y | AR 11 B Tad & |

3. @Y | 9 g, foog &Y 11 TTId ¢
4. @Y | 38 g, fog DU 11 Tl B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29049] Question Description : dwbv_pg_eco_eng_2_q87
2[Option ID=29050]

3[Option ID=29051]
4[Option ID=29052]
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The low income countries are far more likely to borrow meney to finance their public sector expenditure.
Reason (R) : Governments need not repay their loans, along with interest payment.

In light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4. (A) is false but (R) is true.

1) 1

(2) 2

(3) 3

(4) 4

TR YT RUTUE: e Bl Sifimy (a) 3R TR & BRI (R) e TSI

YA (A) - FY-3117 91d <20 g7 39 TdWH® &3 & o0 & aauiyul & fal B0 o @1 e GUE- 8idl 8l
PR (R) : DR B 3T HU 4T Gfed &l Tl - eid 6|

IUad Sl & HITld | FHifdsd [dsedl # 4 el 9wk 9 -

1.(8) 3R (R) THT TET & 9R (R), (4) T TET A E
2.(4) ¥R R aﬁfuﬁ‘l%mﬁ )Hﬁﬂﬁ‘lﬁu@ﬂ%ﬁ“%’l
3. (A) HE1 B U R}*ﬂﬁﬂﬁ%l

4. (A) T8l 981 8 IR (R) Tel &




(2) 2

3) 3

(4) 4

1[Option ID=29053] Question Description : dwbv_pg_eco_eng_2_q88
2[Option ID=29054]

3[Option ID=29055]
4[Option ID=29056]
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : Partisan theory views macroeconomic policy outcomes as the result of ideologically motivated decisions by
leaders of different political parties.

Reason (R) : The parties represent constitutencies with different preferences concerning macroeconomic variables.
In light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4, (A) is false but (R) is true.

1) 1
(2) 2
3) 3
4) 4
TSI FYRUTUE : U @l AUDHYA (4) R G DI SR (R) Hel T 5
AHYA (a) : UITa Rrgia At enfife ifd & faftm To-ifa® gal & Samit grRT fagryrr € Ui giex e e fvfa &
uRoe & ® U H SEd |

R) : XoHIG® Ga for il @1 Aiai-14a Bd & 301 GHl e 93 T Jafid Fgdnd Se-He el 6
TUddd YAl & HTcld | HHiid [ddbedl H U Wl Gl 9 :

1. (A) 3R (R) THT GE1 & 3R (R), (A) B TG AT B
2. (A) ¥R (R) T 981§ T3 (R), (A) I Hel AR Tl &1
3. (A) 98l € U3 (R) 8l &1 B
4. (A) TEI 81 8 IR (R) W1 B
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=29057] Question Description : dwbv_pg_eco_eng_2_q89
2[Option ID=29058]
3[Option ID=29059]
4[Option ID=29060]
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Given below are two statements:

Statement |: Supply side policies are long term measures to increase the productive capacity of the economy leading to an
outward shift in the production possibility curve.

Statement |I: Privatisation is the act of selling state owned assets in order to increase competition, productivity and
efficiency.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

(1) 1
(2) 2
(3) 3
(4) 4

CIERAE R A 1P

@Y - | - 31Yfd U FaiEh Hifcar sifegaw @ Idigs &/Hdl I @6 o e Siddlicin UM gl 6, [orad MG YHIGHT dob
¥ 3fr3eds R Bl |

FHY - 11 : Folieeu Tsa & w@ifia arch ufteufuat $f 994 @ AR & die diawdl, Iaead 3R G&dT 9eTs of 96|
Iuge Pyl & e H HgfaRad Geedl § 9 98 3o g -

1. @Y | 3R 11 SH 9el 2

2. ®YA | 3R 11 SFT T §

3. %Y 1 9 B, Tog @y 1 Taa &
4. T 3T R, g oy 1 T8 B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29061] Question Description : dwbv_pg_eco_eng_2_q90
2[Option ID=29062]

3[Option ID=29063]
4[Option ID=29064]
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Read the passage and answer the questions that follow

U. Pagano and M.A. Rossi (2009) have advanced a hypothesis that states that, "the crash of the knowledge economy is due to
the intellectual monopolies, i.e. the huge protection inherent to Intellectual Property Rights (IPRs). The authors have stated -
the institutions, which are facilitating IPRs are responsible for the crash. According to the authors, IPRs have acted as 'super-
tariffs’ as they have raised the cost of investment for countries that had neither abundant cheap labour nor high amounts of
IPR resources. The IPRs may have subsequently exerted negative effect even on IP (Intellectual Property) rich firms or the
conflicting rights of the firm may affect each other's investments and result in a situation of a savings glut. Therefore, the
authors suggested - "if intellectual monopolies are one of the causes of the crash, the remedies should not only focus on
monetary policy, financial regulation or even on standard Keynesian policies, rather regulation should be made to decrease
the level of intellectual monopolization of economy”. The policy measures they propose, however, aimed at redressing the
balance between public and private knowledge, would not only have strong short-run super-multiplicative effects but would
have long-run benefits as well.

FrafuafEe T ot wryde iy ok g ure st & S i

g WHI R AL A4 (2009) 4 U YRS Ugd @ &, o9 @8l T § & 3 siicda® & saH® FRIaE &1 GRU
dfe® tSIPR 4uid difg® gual USRI (313 b1 3Ry T afied SAf¥E GR&0 8| TEd! - @el & & 315 Ul 3R &I gl
& G TRU 59 S@F® TRAe @ Y OeR 8| 0@®! @ 4R, 3% U IR 7 R-cR% & ©0 § B 6l & aiie
I5i- 34 o3 & [ a9 &1 aFa @ g1 femn § foma o 7 o Ul T o U 99 § 3R T &l aE o ofg O 3R danes
21 39D URUIH Wey 33 Ul (diigd Yugl) Y9G BH 1R Wi 315 U1 3R &I ABRIed YHE ST ¢ difh BHI & URE faried
HYDPR UdH-guL & o=l @ YHITdd &R Udhd § IR 394 99d &I UgRdl @1 RUfd 39 &1 Jdbdl o | SHIAY, Tad] - g=id fear
? - Uit 9 ® WEIYPR 39 IT® TREE &1 Ue ®RU & df 39 JHYH § 5 $ad Jifsd g, [aow g o agi o e
HAG B il IR SH $isd a1 o[l diiee”, e Sioiae] & slfad UBIUBR & R &l UeH & (ol faf-Hd a1
SH dItU| EEife 34 Uha® AR Fel 99 & 9 qeq @ fou oF o SurEt &1 g9 & §, S99 A wad
Heaplierd D OIS YHTE B Sicep Sid1ias uyE ot g

Correctly state the hypothesis of Pagano and Rossi with regards to the crash of the knowledge economy.

1. The root cause of the crash of knowledge economy is globalization, especially privatization.

2. The root cause of the crash of knowledge economy is the poverty and inequality in the less developed countries.

3. The root cause of the crash of the knowledge economy is the intellectual monoplies, i.e. the huge protection inherent
to Intellectual Property Rights.

4. The root cause of the crash of the knowledge economy is the promotion of ample digitilization in the world.

OR!
(2) 2
3) 3
4) 4

T SR B HaH® FRIGE & dgH H WHI 3R I &1 RS & SR Fafdiad # ¥ & 9 duH 981 67

1. 9F TR BT 3aHS TR1EGE &1 ga BROT 35601, [GR¥ER FelieBLo 8|

2. T Soaw] B HF® TRIae B Jd DR 3] [GHiad o=l 3 TR 3R S |

3. I TR B aHG TRIGE &1 d HRU SS® TSMUeR s Sifes duel Afer! # saffea safie deam
gl

4. FH ] & HgF® TRIGE &1 Jd R 9% ¥ g3 UHH R f3fediaru @l 9g1a1 &1 ¢

1) 1
() 2
(3) 3
(4) 4




1[Option ID=29065] Question Description : dwbv_pg_eco_eng_2_q91
2[Option ID=29066]
3[Option ID=29067]
4[Option ID=29068]
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Read the passage and answer the questions that follow

U. Pagano and M.A. Rossi (2009) have advanced a hypothesis that states that, 'the crash of the knowledge economy is due to
the intellectual monopolies, i.e. the huge protection inherent to Intellectual Property Rights (IPRs). The authors have stated -
the institutions, which are facilitating IPRs are responsible for the crash. According to the authors, IPRs have acted as 'super-
tariffs’ as they have raised the cost of investment for countries that had neither abundant cheap labour nor high amounts of
IPR resources. The IPRs may have subsequently exerted negative effect even on IP (Intellectual Property) rich firms or the
conflicting rights of the firm may affect each other's investments and result in a situation of a savings glut. Therefore, the
authors suggested - "if intellectual monopolies are one of the causes of the crash, the remedies should not only focus on
monetary policy, financial regulation or even on standard Keynesian policies, rather regulation should be made to decrease
the level of intellectual monopolization of economy”. The policy measures they propose, however, aimed at redressing the
balance between public and private knowledge, would not only have strong short-run super-multiplicative effects but would
have long-run benefits as well.

FrafafEm i 5 wryde ufen ok gwfua uia vt F S i

g, WHT 3R THY I (2009) 7 T URSA UK DI &, orgd &gl T ¢ oo I sfoua®yl 1 aHe TRaE &1 SR
die® @eR uld difge dua AeRT (23 b oR) 9 siafikd saf¥e e | Tad! - ®el ¢ [ 341 Ul 3R & ggrdl
S aTell YRIU 39 S TR & U HER €1 oedl & 3R, 35 Ul 3R 5 qWR-cRE & U ¥ & e ¢ dife
Il 3 ¢TIl & (U e & dFTd @1 g &1 & e urd 7 d Ul 331 H G5l 91 & 3R 9 3Hitw qe H o 0 3R g9
21 9 URUH Wey o8 Ul (@ifed® Yual) 959G BHl I Wi 35 U1 3R & ToRies IHE IS & Fdiih BH & Ieede Rl
HPR UH-gIR & (39 &1 TUIad B2 God & 3R 399 g9 @ U=l @1 (ufd 307 81 Uadl &1 3afen, das! 3 g faar
? - Uit ST teIeR 39 3EF® TREC &1 U6 BRI ¢ d 390 GHYHT & 5 $aa Aifge i, fan e o agiaa &
OH® SHUEH AiTadl U EH $iad [al oFl diiel”, 3 el @ dfad (@IUPR & WX & 9eH & oy fafag &1
S gl grdiie I+ Fida-d iR Hell 99 & &g Udo- & o [ ifaed U™l & g9id fear g, 39d 4 daa
HegebIieies HUP TS THIE BH1 afcd gidaiices THIE ot 5|

According to the authors, who is responsbile for the crash of the knowledge economy?

1. The person/ organisations who file the patent for protection of IPRs.
2. The institutions which are facilitating IPRs.

3. The person/ organisation who are opposing to the IPRs.

4. The sluggishness of the technological progress in the world.

(1) 1
(2) 2
3) 3
(4) 4

dE®| & HTUR, TH AT B 3gHS FRIGE @ U B HER 87

1. 313 UT 3R & GR&TT & [T Ude aIiad o arel ofad/gmaA
2. 3Ts U1 3R B 96141 & g 9=d|

3. 35 Ut 3R @1 faRiy &3 Il safdd/aed |

4. fay o do-iie! witd @1 Ffteaan

1 1
) 2
3) 3




(4) 4

1[Option ID=29069] Question Description : dwbv_pg_eco_eng_2_q92
2[Option ID=29070]
3[Option ID=29071]
4[Option ID=29072]
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Read the passage and answer the questions that follow

U. Pagano and M.A. Rossi (2009) have advanced a hypothesis that states that, "the crash of the knowledge economy is due to
the intellectual monopolies, i.e. the huge protection inherent to Intellectual Property Rights (IPRs). The authors have stated -
the institutions, which are facilitating IPRs are responsible for the crash. According to the authors, IPRs have acted as ‘super-
tariffs' as they have raised the cost of investment for countries that had neither abundant cheap labour nor high amounts of
IPR resources. The IPRs may have subsequently exerted negative effect even on IP (Intellectual Property) rich firms or the
conflicting rights of the firm may affect each other's investments and result in a situation of a savings glut. Therefore, the
authors suggested - "if intellectual monopolies are one of the causes of the crash, the remedies should not only focus on
monetary policy, financial regulation or even on standard Keynesian policies, rather regulation should be made to decrease
the level of intellectual monopolization of economy”. The policy measures they propose, however, aimed at redressing the
balance between public and private knowledge, would not only have strong short-run super-multiplicative effects but would
have long-run benefits as well.

FrafafEs i i wrydes ufen ok g ura usit F s difse:

g, WHI 3R TH.Y IR (2009) 7 T RS UKD DI &, orgH &l T ¢ o "I spicaa=yl & aH® FR1aeE &1 GRU
Sife® EER Ui 9fees duar @RI (3 01 3R) T sidffed il G g | d9s! - @6l 6 & 3% Ul 3R &I 9e1dl
& ITe YR 39 SEMS TREe & fau eR 81 aue! & 9R, o Ul 3R 3 qR-2Re & ®u & & (a1  dife
F5i- 3 o=l & o AW @ AFTd @1 9¢ faar & oo ura 7 d U 76 | T 31 § 3R T Hii® A6 H o U R g9
21 9P URUE Wey 3% Ul (@ifed® dual) 959G BAl I W 38 U1 3R & ToRes IHE IS & Fdiih BH & IeT Gl
HIYPR UH-guL D A=l & UHIdd B Yohd § IR 39U gad &I URdl @1 R4 34 &1 Ibdl o | SHIAY, Tgeh] - gid fear
% - "fe siflg® UBINUGR 39 D [TRIGE B Ud DRU 6 dl g89d GHIYH H F dad Hifgd ifd, [ fafas- a1 98l oo o
OH® SUEH AiTadl U EH $iad [al oFl diiel”, 3 SaIawl & dfad (HIUeR & W) & 9eH & fay fafidg &1
9 9IEU| Edife 34 Udae iR Fel 99 & €9 Iqaq & fou fom o Surl @1 g3ne B g 39% 9 dad
HeapIiorm TP TUTH® THTE B Sfcw Gramiad a9E o g

Why have the authors considered IPRs as a super tariff ?

1. There is a large scale reduction in tariffs but substantial increase in some sectors, in some countries, hence it is
considered as a super tariff.

2. After the Uruguay Round, the tariff rate has declined multiple times and that boosts economic growth , hence it is
considered as a super tariff.

3. The reduction in tariff has benefited the developed countries, hence it is called a super tariff.

4. The IPRs have raised the cost of investments for countries that had neither abundant cheap labour nor high amount of
IPR resources, hence it acted as a super tariff.

(1) 1
(2) 2
(3) 3
(4) 4




TRE®| H T3 Ul 3R B gR-¢R% & GHH i AT & 7

1. 2% 1 93 T9H W HHI 53 & i $0 o™il H $3 &A1 § I 313 g3 6, 39U 34 Y- JF B

2. 357 91l & @16 2R & § & 11 FIae g5 & ok 399 onfifes i 991 g5 8, Sufe 38 Q-2 g 21

3. o® 1 ool 9 G o aTvIfad §U €, ST 58 R-cR% Bel T B

4. 373 U1 AR 9 39 &2 & foe Faw 3 anrd 9¢1 €1 8 59 U = a1 UeR 90 8 9% 48 § 3R 7 34 e & ganeE |
U qR-¢R® & w4 H B (641 2|

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29073] Question Description : dwbv_pg_eco_eng_2_q93
2[Option ID=29074]

3[Option ID=29075]
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Read the passage and answer the questions that follow

U. Pagano and M.A. Rossi (2009) have advanced a hypothesis that states that, ‘the crash of the knowledge economy is due to
the intellectual monopolies, i.e. the huge protection inherent to Intellectual Property Rights (IPRs). The authors have stated -
the institutions, which are facilitating IPRs are responsible for the crash. According to the authors, IPRs have acted as 'super-
tariffs’ as they have raised the cost of investment for countries that had neither abundant cheap labour nor high amounts of
IPR resources. The IPRs may have subsequently exerted negative effect even on IP (Intellectual Property) rich firms or the
conflicting rights of the firm may affect each other's investments and result in a situation of a savings glut. Therefore, the
authors suggested - "if intellectual monopolies are one of the causes of the crash, the remedies should not only focus on
monetary policy, financial regulation or even on standard Keynesian policies, rather regulation should be made to decrease
the level of intellectual monopolization of economy”. The policy measures they propose, however, aimed at redressing the
balance between public and private knowledge, would not only have strong short-run super-multiplicative effects but would
have long-run benefits as well.

Frafiifm T B T TR o S o wat ¥ g AR

g, WHIT 3R TH. I (2009) 7 T URG T5d D &, orgd ®el T € & T sicoawy 3 aF® fRae B SR
difg® tefieRr sufd Sifgs due SfeR! @ i 3Ry § safRd safis Wev &1 dus! S $e & & o 0t 3R &t ggar
S Tl TR 39 S TREE & Y SeR €1 oe®l & 3R, 3% U1 3R 5 qR-CRG & ¥ ¥ oI f6ar g dife
I5i- 34 o= & o Faw &1 ara 3 71 femn 8 foHd urg 7 @ ot T § I 99 § 3R A ofie o | g ot 3R daned
21 39D URUIH Wy 13 Ul (difed Yual) 959G BH i Wl 315 U1 3R & AeRIed YHE UsT ¢ diid BH b URER faried
HIYDR Ud-goR & =l ! WHITEd B oo & R S add @ gl S R 399 51 9l ¢ | SHiY, oEd! - g=a fean
? - Ut fEF HeR 39 e FREe BT U6 SRS O 596 G § 7 Haq Sifas i, oo e o asios &
TG B Hifodl R 91 $iad o ke, 3w sifaewn & Sifes oiieRr & ©R & uen & fau faf i s
S AUl geiie I+ dd-id SR Hoil I & & Uge & o foF Hiforra Ul &1 g9a fear g, 3% 4 daa
Heuplieid HlUD VIS UHTd gH1 dich Giddiicid U ot gl

How are the IPRs responsible for a savings glut?

1. IPR has lead to economic growth, which has led to a savings glut.

2. The aggregate demand has fallen substantially and that has led to the savings glut.

3. The IPRs have given rise to conflicting rights for different firms, which has affected the volume of investment
negatively and resulted in a situation of a savings glut.

4. The IPRs have led to poverty and that has led to a savings glut.




1) 1
(2) 2
(3) 3
(4) 4

3T Ut 3R F9d U=Ral & (a0 Hd foTER &7

1. T3 Ul AR & BRUT AP 91G 53 & o9y g9d FaRdl g3 el

2. %a T F Bet fRge 3ng 8 foad 990 U9Ral s o

3. T3 Ul HR o HRUT fafHd BHl dv IR faRie iRl & i g3 & oy Fdw &1 A IR 9eRIHS UHIE UsT & 3R
U 94 ULRdl & RUfd ST g8 8

4. 3% U 3R & BRUI TR 561 & AR 599 99d Tgdl ®f (4fd 30 85 &l

(1) 1

(2) 2

(3) 3

(4) 4
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4[Option ID=29080]

Sl. No.95
QBID:1095

Read the passage and answer the questions that follow

U. Pagano and M.A. Rossi (2009) have advanced a hypothesis that states that, "the crash of the knowledge economy is due to
the intellectual monopolies, i.e. the huge protection inherent to Intellectual Property Rights (IPRs). The authors have stated -
the institutions, which are facilitating IPRs are responsible for the crash. According to the authors, IPRs have acted as 'super-
tariffs’ as they have raised the cost of investment for countries that had neither abundant cheap labour nor high amounts of
IPR resources. The IPRs may have subsequently exerted negative effect even on IP (Intellectual Property) rich firms or the
conflicting rights of the firm may affect each other's investments and result in a situation of a savings glut. Therefore, the
authors suggested - "if intellectual monopolies are one of the causes of the crash, the remedies should not only focus on
monetary policy, financial regulation or even on standard Keynesian policies, rather regulation should be made to decrease
the level of intellectual monopolization of economy”. The policy measures they propose, however, aimed at redressing the
balance between public and private knowledge, would not only have strong short-run super-multiplicative effects but would
have long-run benefits as well.

FrafuafEe T ot wryde iy ok g ure st & S i

g WHI R AL A4 (2009) 4 U YRS Ugd @ &, o9 @8l T § & 3 siicda® & saH® FRIaE &1 GRU
dife® tBIPR uid dife® gual @RI (313 b1 3Ry T afied SAf¥E GR&0 8| U] - @el & (& 315 Ul 3R &I gl
& Gl TRU 59 SaF® TRAe @ Y SFeR 8| E®! & 4R, 35 Ul 3R 7 gR-cR% & ©U § B [6dl & diie
F5i- 3 o¥Nl & (o < & aFTd @1 9¢ T & fo=d 9rd 7 a U A3 J T 89 § 3R 7 i@ A | o o 3R 99
21 39D URUIH Wey 33 Ul (diigd Yugl) Y9G BH 1R Wi 315 U1 3R &I ABRIed YHE ST ¢ difh BHI & URE faried
HYDPR UdH-gu & Ha=ll @ YHITdd &R Tohd § IR 394 99d &I URdl @1 24T 309 &1 Jdbdl o | SHIeY, Taa] - g=id fear
? - Uit 9 ® WEYPR 39 Ig® TREE &1 Ue ®RU & df 39 J9YH § 5 $aa Jifsd Hifq, [don e o g a@ e
HHAG BIFGE Hifcl UR EH $isd a1 o diiee, 9 ioawl & Siied USHUeR & wR @) 9eH & (ol fafeg =g
SH dItU| EEife 34 Uha® AR Fel 99 & 9 qeq @ fou oF o SurEt &1 g9 & §, S99 A wad
Heamiad S ToNeTH WUE B Sfcd eradiias HuE o g




What remedies do the authors suggest for the knowledge economy to recover from the crisis?

1. The author have suggested standard Keynesian policies to recover from the crisis of the knowledge economy.

2. The authors have suggested monetary policy to recover from the crisis of the knowledge economy.

3. The authors have suggested financial regulations to recover the crisis of the knowledge economy.

4. The recovery of the knowledge economy from the crisis can be achieved through the regulations, which can decrease
the level of intellectual monopolisation (IPRs) in the economy.

1) 1
(2) 2
3) 3
(4) 4

TE®! - I HAT Bf de T JaRA & 078 o0l GHIYH T 67

1. GBI - FH TR Bl Ydhe U IR o (AW dad HH-G SI-uig- ifadl & gd fGar g

2. Tl A H AR Bl Ydhe U JaRA o (oY dhad Hilgd l1d &l 14 [Gar g

3. TP | H I IR &l Yehe W AR & (oW dad 19 [AFga &1 g=id G e

4. A fenawy & U fa gl gR1 Tde ¥ 38R ofl 964l &, ol iaaw ¥ 9 ® UTPdid (305 U IHR) & TR Bl
2T b |

(1) 1

(2) 2

(3) 3

(4) 4
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2[Option ID=29082]
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Read the passage and answer the question that follows

Globally, the understanding about the systematic impacts of climate change on the economic and financial systems is still
evolving. Broadly, the climate-related risks impact the financials sector through two channels - (a) physical risks and (b)
transition risks. Physical risks refer to the economic and financial losses such as risk to the value of a collateral etc., resulting
from the increasing frequency and severity of extreme weather events, gradual long-term shifts of the climate and indirect
effects of climate change (such as impact on ecosystem services etc.). Transition risks are the ones that arise from the process
of adjustments towards a low-carbon economy. lts drivers include policies for climate mitigation, technological advances and
shifts in public sentiments including that of customers and investors. To cope with such risks, the central bank needs to
develop a multi-pronged strategy that puts adequate emphasis on climate- related financial disclosures, stress testing,
climate scenario analysis and at the same time devising suitable regulatory initiatives. The Indian Central Bank has set up the
Sustainable Finance Group in this regard. This aligns with its mission, "to promote the economic and financial well being of
the people of India in terms of price and financial stability: fair and universal access to financial services and a robust,
dynamic and responsive financial intermediation infrastructure.”

e T e @ ufdT v et Ui uyi F o it

3f® TR W Ry IR &g 97 W 9aar uitad- & dHas HEl & 9 J 999 onfl | [Gefid 81 @1 81 Saarg gefid
e fG<ig &7 & &l 31| § JUIfad @3 & (a) U@ Siigd 3R (b) WURNd wiRkgd | Hifd® Sifed &1 =™, Add el
HgHt geTsll @ gl g3 SRERdl AR THR Sadg & sifd GHdlH 9eald SR Sadg URda- & RIg 9 U gH drd
yyrat (affRufaet dF et Tarsf sanfe W uvE & S1) & uRume WEY e ard i ud iy gl @ ganfde dufy
SAIG & Heg & Ufd SiigH) I g1 YshHvl AIRgH Ul SIEd § | &H ®le- Icoi- ®e alel HUaawi & AR GHRGH! $I
Ufhal ¥ 3@ ld & 39 Ud! # Jadryg UHH, WeiRid! Safadl o aH-Ha1s § sead @e®! R Hawe! gfga) dad
-fifral SR B §1 39 TR & Sitedl 9 UR OF & [0, $50 86 @ U9 9g-3[mEl J0H (@Ea) $f 96 31
Hawgadl 5, &l fb Serarg-Uafia faxfia wrdteen, a-ma gfien; Searg oRexy fagau <k ary gt a1y vt fafame uedt
et IU T W T4 A6 ¥ 9k @) odl ol | 39 39 H URd & $aig 96 2 JURvig faw wg =it @fsq) g1 o
HU- 39 A= 9 e § "®iAd iR faciiy FRURdr; fa<iia darsi 3R Us geg, Miaziia SR srfsbarsiia fawia Ae=dl si@eRamn
@ 3fdd Ud HIdHIflE Ugd & HeH H HRd & arll & 1 ud fa<iig sedul @1 iclied dAr

Which of the following is not relevant as a climate-related risk for the financial sector?

1. Occurence of local or regional weather events.

2. Risk to the value of collateral taken as security against loans.
3. Insolvency of banks.

4. Shifting sentiments and behaviour of customers and investors.

(1) 1
2 2
3) 3
(4) 4

facita &= & forg Saarg-wefia sifes! & ©u 3 Refafad oF-a uefie =E 2

1. RIHTT 3Ya &g 99 e & gied 8411

2. %0 & Ufa ufayfa & w0 o urd foan o arar s gufy & 9o & ufg oifed|
3. dol 1 [earferm=|

4. el 3R Fdwa! & AArvEl 3R dgR | 9garg Al

OR!
() 2
(3) 3
(4) 4




1[Option ID=29085] Question Description : dwbv_pg_eco_eng_2_q96
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Read the passage and answer the question that follows

Globally, the understanding about the systematic impacts of climate change on the economic and financial systems is still
evolving. Broadly, the climate-related risks impact the financials sector through two channels - (a) physical risks and (b)
transition risks. Physical risks refer to the economic and financial losses such as risk to the value of a collateral etc., resulting
from the increasing frequency and severity of extreme weather events, gradual long-term shifts of the climate and indirect
effects of climate change (such as impact on ecosystem services etc.). Transition risks are the cnes that arise from the process
of adjustments towards a low-carbon economy. Its drivers include policies for climate mitigation, technological advances and
shifts in public sentiments including that of customers and investors. To cope with such risks, the central bank needs to
develop a multi-pronged strategy that puts adequate emphasis on climate- related financial disclosures, stress testing,
climate scenario analysis and at the same time devising suitable regulatory initiatives. The Indian Central Bank has set up the
Sustainable Finance Group in this regard. This aligns with its mission, "to promote the economic and financial well being of
the people of India in terms of price and financial stability: fair and universal access to financial services and a robust,
dynamic and responsive financial intermediation infrastructure.”

faw e Ty @) ufev vd weifte i usi $ S dif

AP TR W TRy IR &Y 99 R Sdar URad- & HHas UHEl & 9 H 997 onfl Hi [Goiad 5l 6l 81 Saag e
Sifey fa<fia &7 &1 o 91| © pHIfad 3 & (a) Yifde SiREd @R (b) RRA wifed| Yifde Sifed &1 31, sdd faeg
HigH! gerefl @1 dedl g3 aRARdl HR 4R Sodyg & sild chdH 96ad AR Wdarg URkddd & RIg Y9 ¥ giH ard
yyrEt (affRufaet dF et Tarst sanfe W uvE & S1) & uRume WEy gF ard ofie ud s gifal @ ganfide dufy
SdIG & Ped & Uid oliigd) T §1 Thav Jigd U Sifed & of &9 @ Sco @ arel Heqawi] ®i AR A/ $I
Uichal U IO Bld & Sud Wl § Jadrg U=, WeiRTe! Saiaal SR SH-HIaH1s ¥ sead (@ed! SR Hae! aiga) dadd
il Gl Bl §1 59 UBR & SIRgHl U UR UH & [, =9 4 @l s dg-A-H UG @rial) & s &I
HIaRgwdl g, 9 fv Aear]-Helad fady Wi, d41d Gdau: Soar] URey [aeeiyur 3R 91y g1 9 uai| faHame ugdl
et U™ & W w0 96 8 R @) odi 21 39 99 H YRd & 41 9@ 4 YYRviY fag 9gg wifta @féq) g1 0
Ho- 30 TIRE © Ues § 3 AR fociia R faxia Jareit 3R te Teg, iasfia SR srfraria foxiia ao=ar sadkamn
@ 3fd U8 Idviite ugd & Y F YR & @l & onfife vd faniig Soam & didiied ST

Which of the following cannot be instrumental towards integrating climate risks into the financial system?

1. Climate-related financial disclosures

2. Stress testing

3. Scenario analysis

4. Backward-looking risk assessment methods

1) 1
(2) 2
3) 3
(4) 4

Fafeafed o O @ faxia woneh 7§ Siaarg sifen! & 9rfed &3 & Ui T8 ol of Udbdl ?

1. Siciary-Heifdd fa<dig wrdie
2. d1a udigo

3. URERY faweyu

4. GYIIET TG ST faradl




(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=29089] Question Description : dwbv_pg_eco_eng_2_q97
2[Option ID=29090]

3[Option ID=29091]
4[Option ID=29092]
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Read the passage and answer the question that follows

Globally, the understanding about the systematic impacts of climate change on the economic and financial systems is still
evolving. Broadly, the climate-related risks impact the financials sector through two channels - (a) physical risks and (b)
transition risks. Physical risks refer to the economic and financial losses such as risk to the value of a collateral etc., resulting
from the increasing frequency and severity of extreme weather events, gradual long-term shifts of the climate and indirect
effects of climate change (such as impact on ecosystem services etc.). Transition risks are the ones that arise from the process
of adjustments towards a low-carbon economy. Its drivers include policies for climate mitigation, technological advances and
shifts in public sentiments including that of customers and investors. To cope with such risks, the central bank needs to
develop a multi-pronged strategy that puts adequate emphasis on climate- related financial disclosures, stress testing,
climate scenario analysis and at the same time devising suitable regulatory initiatives. The Indian Central Bank has set up the
Sustainable Finance Group in this regard. This aligns with its mission, "to promote the economic and financial well being of
the people of India in terms of price and financial stability: fair and universal access to financial services and a robust,
dynamic and responsive financial intermediation infrastructure.”

3T T T @ ufe wd wefie v ud & R v

T TR W TRy IR &g 97 | ey uitad- & paas vyE & e 3 999 onfl o Gfd 8 @ &1 Saarg g8t
Sifay fa<ita &= @ o 915E 9§ guifad &d & (a) Hifd® Sied iR (b) TWOrd wifad | Hifde Siied &1 =™, sidd faud
A gerel @ ggdl g3 aRaRdl R TR Sy & HiFs crhacE ggord R Sady URkadd & Wig ©9 9 giH ard
yuIat (uiRfRufae! o Saeh Jaref e W uyE & 9F) & ORI e 54 a1d i ud faciy gifat @E geafde dufy
SAIG & Jed & Uid SiigH) 4 g1 YshH0 AIRgH U SiEd € ol &H S 3o $e alell HieqaRi &1 AR GHRH! $1
TR ¥ IO BId € 9P IRS! H Saarg U=, Uit Safadl 3R H-Hiaei # seae @es! R Fave! afd) e
Hifoat aftafad g1t €1 39 UeR & Sifedl U UR O & foU, <0 §% 31 U a9g-smrh oG @ ki) $f s9H B
HIGRgwHdl &, Sl [ Seary-Hafed [y WIian, a41d Giaur; Soar] uRexy [axeiyur 3R 91y g1 9y uai faHams ugdl
et Sum B3 W v 5§ 9k @) ool 8| 39 Uy § YRd & $41d 8@ 1 9uRvig 39 9 wifta @1feq) G g1 08
HUH 39 4R 9 U & @A 3R faciia R faxiia daret 3k us gee, Miaiia SR srfbariia fadia aedn sEeamn
@ 3fad Ud FIGHIMS Ugd & Yo H HRd & arll & e ud iy sem &f didfsd &

Which of the following does not pertain to the category of transition risk drivers with respect to the climate-related risks?

1. Climate-related mitigation policies
2. Loss of ecosystem services

3. Technological innovations

4. Shift in public sentiment

1) 1
) 2
3) 3
4) 4




Siefarg W SiRaal & deH J GhHU SliRgH IRl & |1y Hgfaied § 1 $H-91 defed sl 87

1. TAag-Yafag y=e- ifaal
2. NIRRT Tareft &l g+
3. Wl g FaraR

4, 5F FHEME!E 9ea1@

(1) 1

(2) 2

(3) 3

(4) 4
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2[Option ID=29094]
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Read the passage and answer the question that follows

Globally, the understanding about the systematic impacts of climate change on the economic and financial systems is still
evolving. Broadly, the climate-related risks impact the financials sector through two channels - (a) physical risks and (b)
transition risks. Physical risks refer to the economic and financial losses such as risk to the value of a collateral etc., resulting
from the increasing frequency and severity of extreme weather events, gradual long-term shifts of the climate and indirect
effects of climate change (such as impact on ecosystem services etc.). Transition risks are the ones that arise from the process
of adjustments towards a low-carbon economy. lts drivers include policies for climate mitigation, technological advances and
shifts in public sentiments including that of customers and investors. To cope with such risks, the central bank needs to
develop a multi-pronged strategy that puts adequate emphasis on climate- related financial disclosures, stress testing,
climate scenario analysis and at the same time devising suitable regulatory initiatives. The Indian Central Bank has set up the
Sustainable Finance Group in this regard. This aligns with its mission, "to promote the economic and financial well being of
the people of India in terms of price and financial stability: fair and universal access to financial services and a robust,
dynamic and responsive financial intermediation infrastructure.”

fw T Terw @ ufdw v et Ui usi ¥ oww diftm

AP TR W sferawyr oR faxia &7 W Saarg uitady & Haag wyEt & R gug onft off ey € 3@ 81 Siaay defia
Sifan fG<ig &7 & &f J1ed § JUIfad @3 & (a) Hifa® wiigd 3R (b) WORAd wiRkad | Hifd® Sifed &1 =™, AHdd faud
HigH geTsl B dgdl g3 SRERAl AR THR Sadg & Hifd GHdlkiH 9eald SR Sadg URda- o RIg 9 U giH drd
yyrat (affRufaet dF et Tarsf sanfe W uvE & S1) & uRume WEY e ard i ud iy gl @ ganfde dufy
SAIG & Heg & Ufd SiigH) I g1 YshHvl AIRgH Ul SIEd € | & ®le- I ®e alel HYeaawi & AR GHRGH! $I
Ufeal ¥ IO id & 39 Ua! § Jadryg U=EH, WEiRIa! Safadl R aH-Ha1s § sgad @(es! SR Hawe! afgq) d9d
Hifcrat SfERa g 81 39 YoR @& Sifgd 9 OR OH & R, i 96 @ U6 dg-9am! M (@/ae) ®F 89 31
Hawgadl 5, &l fb Serarg-Uafia faxfia wrdteen, a-ma gfien; Searg oRexy fagau <k ary gt a1y vt fafame uedt
et IUHE T3 W w0 A6 ¥ 9R @) odl ol | 39 999 H URd & i 90 -+ JURvig faw g =it @feq) g1 o
HU- 39 A= 9 U6 § DA iR faiia R fa<iia darsl 3R Us gee, Maiia iR srfbarsiia fawia Adl si@aeRaml
@ 3fdd Ud HIdHIHE Ugd & HeH H HRd & arll & 1 ud fa<iia sedr &1 icligd deAr

Which of the following is not consistent with the mission of the RBI?

1. Ensuring access to financial services.

2. Maintaining price and stability.

3. Setting national development priorities.
4. Stability of the financial system.




(1) 1
(2) 2
(3) 3
(4) 4

Fafiiad o 9 @ o 8@ 316 Sieal (AR d 315) & H8H © 9 GEd 87

1. fa<ia Yarsi 9o ugd &1 gHiEd o1l
2. B Rl I §41T [T

3. P fare wrufAened &f Feifd &
4. fa<iig 41 (cgq@un &1 FRRar

(1) 1

(2) 2

(3) 3

(4) 4
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Read the passage and answer the question that follows

Globally, the understanding about the systematic impacts of climate change on the economic and financial systems is still
evolving. Broadly, the climate-related risks impact the financials sector through two channels - (a) physical risks and (b)
transition risks. Physical risks refer to the economic and financial losses such as risk to the value of a collateral etc,, resulting
from the increasing frequency and severity of extreme weather events, gradual long-term shifts of the climate and indirect
effects of climate change (such as impact on ecosystem services etc.). Transition risks are the ones that arise from the process
of adjustments towards a low-carbon economy. Its drivers include policies for climate mitigation, technological advances and
shifts in public sentiments including that of customers and investors. To cope with such risks, the central bank needs to
develop a multi-pronged strategy that puts adequate emphasis on climate- related financial disclosures, stress testing,
climate scenario analysis and at the same time devising suitable regulatory initiatives. The Indian Central Bank has set up the
Sustainable Finance Group in this regard. This aligns with its mission, "to promote the economic and financial well being of
the people of India in terms of price and financial stability: fair and universal access to financial services and a robust,
dynamic and responsive financial intermediation infrastructure.”

T e i Y ufew wd wafta Ui usi & I S

IS TR W T IR &Y 99 R wdar] Uiad- & $Has UHEl & 9 H 99 onf Hi Gaiad 5l w1 81 \aag deed
e &Gy &7 & &l 919 4 JUIfad a3 & (a) Yifad® Sigd 3R (b) WWURAd wiRkgyq | Hifde Sifed &1 =M, AHdd faug
Hrget geTefl @ dedl gy aRERdl AR THR F0ag & HH® SH@H 96ad AR waarg URkadd & RIg 9 ¥ g ad
yyrat (affRufaet oF et Tarsit safe W uvE & S) & uRumm ey aF ard e ud iy gl @ ganfde dufy
SAIG & Hog & Ufd SiigH) I g1 YshHvl SigH Ul SIEH § O &H Dle- Iooid ded alell Hawil &1 R GHRIGH! $I
Uihal U I id & Sud Wl § Jaarg U=, WeiRTe! Safaal SR §H-HIaH13 § sgaa [@ed! 3R Hawe! aigq) dad
ifear afEfad g1t §1 39 veR & Wifedl § R O & AU, 50 §% @ U 98- WHifa @) o e @
HIGRGH &, Wl [ Siciarg-Yafad &g Wididul, a1 uRiaf;, Siearg uRe=y fa=eiyul iR 91 81 9y gaie [aFame gedl
et IUg S W w0 96 E Ok @) Tt 81 39 99y H YRd & $E 90 1 GURvig faw 99g wifta @féq) T g1 0
HO- 30 FIRE O Ues § 3 AR foxiia R faxia dareit ok te Tee, iaslia oIk srfrariia foxfia qoar siadkamn
@ 3fd Ud HIaHIl® Ugd & deH H HRd & arll & i ud fawiid sedl &1 Uidnigd oA




Which of the following is the purpose of setting up the Sustainable Finance Group by the RBI?

1. To act as a knowledge center for macroeconomics policy oriented research.
2. To lead regulatory initiatives on climate-risk.

3. Facilitating core central banking function.

4. To perform supervisary functions.

(1) 1
) 2
3) 3
(4) 4
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(1) 1
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